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The table below embodies data on the number of candidates who appeared (A) and passed (P)
1n Civl Services Examintion from four cities K. L, M and N during the yvear 2014 to 2019. In

accordance with the table. answer the question =

u‘V\o

A’ear—wise Number of Candidates from Different Cities | e y
City —> K L M N
YeN T [aJp|[afJp[aJe| alep
- ”
vy
2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 430 | 1135 | 840
2016 720 | 448 | 636 | 208 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752 Stu
2019 850 | 496 | 600 | 315 749'—'“?‘*\&"Y e
, 11

‘ l | |
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d

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780
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What iz the difference between the total candidates who appeared and total candidates who

passed from City K in all the six yvears together? — —
—_— C—

(1) 2060 (2y 2070
. 2080
N4 v v v

ST 1 el TEAT F w1 AT had1 27

(1) 2060 (2 2070 &j( AP )

(3) 2080 4) 2090

Options:-

.1, Option ID :- 15931,
« 2, Option ID :- 15932,
. 3, Option ID :- 15933,

. 4, Option ID :- 15934,
Answer Given:- 4, Option ID : -15934

Question ID:- 4121
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The table below emhbodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table, answer the question

Year-wize Number of Candidates from Different Cities
City —> K [F M N
Year AlP|A|P|A|P A P

\

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 762
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780
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_‘Lg‘ﬁ__ 2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 02
wns 2015 |04 472 | 608 | 324 [ 728 480 1135 | 840 S tu
. 2016 7 : ‘ '
4’;’0\/ ; 7120 | 448 | 636 | 208 | 630,300 | 10 e*\
2017 750 | 360 | 6§ 3‘6636 1896 786 —f
d¥ [2018 = 7
G D ﬁzg:s;m@ 719424 | 1180 | 752
-' L95M=206 | 600 | 315 | 740 | 464 | 1165 | 780
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The total number of candidates who passed from Citi M 1n all the si1x vears together 1s what
percentage (%) of the total candidates who appeared from City M in all the six years
together?

(1) 56% @) 58%
3) ﬁoe»a| Ve 4 62%

- o

Tl T7 a9 % aWE we M F I EH A e i Fe aen 39 69 37 a9 F 3E o M A
Wi | 9 o A ARt i B we e afded 27

=BV jweo

(1) 56% (2) 58% ‘/‘ A \/
(3) 60% (4) 62%
Options:-

.1, Option ID :- 15947,
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« 2, Option ID :- 15948,
. 3, Option ID :- 15949,

. 4, Option ID :- 15950,
Answer Given:- 4, Option ID : -15950

Question ID:- 4119

The table below emhbodies data on the number of candidatez who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table, answer the question

Year-wize Number of Candidates from Different Cities
City —> K [F M N
Year AlP|A|P|A|P A P

)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 762
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

= & 72 @ifere 6 99 2014 9 2019 % A 9w wEg K. L. M @R N F fafas g wfien |5 i
FHaETe FEfdEl (A) 3R e # S0 st (P) i men % s faw | At % sEn ue
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Kv L g ( Nm )

o7 m NAT
O
360 | 612 | 310 | 720 | 410 | 1020 | 802
472 | 608 | 324 | 728 | 480 | 1135 | 840
448 | 636 | 298 | 680 | 390 | 1084 | 864

360 | 655 | 305 | 695 | 396 | 1096 | 766

e SUAY

jpos
'z- -

“h\ . 2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752

e L2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780
ARSI - 1 LhAaCY.
Wi - (’1}‘% .S‘V.

For which of the following cities the percentage of candidate passed among those who
appeared for the examination 1s minimum in the year 20197

| v

(1) K () L
(3 M (4 N
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(1) K
3) M
Options:-

.1, Option ID :- 15939,
. 2, Option ID :- 15940,
. 3, Option ID :- 15941,

. 4, Option ID :- 15942,
Answer Given:- 1, Option ID : -15939
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Question ID:- 4120

accordance with the table, answer the question

The table below embodies data on the number of candidatez who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

Q

Year-wise Number of Candidates from Different Cities
City —> K L M N
Vear A|P|A | B|A|PF| & |P

N

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 208 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305

2018 824 | 504 | 640 | 346

2019 A

019 % S = TEl K, L, M skt N & farfer @ whten & st

i . eafaEt (A) #Hi wlten # sl sr=fi (P) i wem & we e ) afee % srEn am
fafsm o=t @ sr=afsda i avar gemn
w—>| EVY I M N
R E Af’/APAPAP
)L
=
2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
w 2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
3(/6 2017 | 750 | 360 ||655 | 305 | 695 | 396 | 1096 | 766
= g V(2018 824 55.4 640 | 346 | 712 | 424 | 1180 | 752
— [2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780
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What is the percentage rise in the number of candidates who passed from City K from vear
2017 to year 20187

————
1) 32% 2) 36%
(3)  40% (4) 44%

Tt K ® a9 2018 # 30 aeafe=i ) dwem 987 ¥ 59 2017 ¥ 390 svenfed 6 oo 9 e ufiea

=TT — =
. \
1) 32% @ 36% C@ 1» E’\(‘\

)
(3) ]E 4)  44% — O/ i’ik

Options:-

.1, Option ID :- 15943,
. 2, Option ID :- 15944,
. 3, Option ID :- 15945,

. 4, Option ID :- 15946,
Answer Given:- 2, Option ID : -15944

Question ID:- 4118
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The table below emhbodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table, answer the question

Year-wize Number of Candidates from Different Cities
City —> K [F M N
Year AlP|A|P|A|P A P

\

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 762
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

= & 72 @ifere 6 99 2014 9 2019 % A 9w wEg K. L. M @R N F fafas g wfien |5 i
FHaTe FEtdEl (A) R e # S st (P) i men % wrws e o | At % sEn ue

Tafirm w=et o srcafiat 6 adar g=n

V4 m—| K| Ll Mw N/
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2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802

2015 /' | 804 [472)| 608 | 324)| 728 | 480} 1135 |840}| = tu dy
; |
501,300 | 10 W
0

Sy

2
2016 720 | 448 | 636 | 298 | 68

2017 750 | 360 | g5 3‘6.3;3)6 1896 766

2018 j2i::§04‘5‘¥ﬁi nTflas| 1180 | 72| é'
y @ | 3806 | 600 | 315 | 740 | 464 | 1165 | 780 —

What 1s the average number of candidates passed from all the four cities in the year 20157
— [ —

(1) 528 (2) 529
(3) 530 (4) 531

9 2015 % oA A 9F TR0 § S0 2Eae Al Fi stEa 9e e 2 7 ‘c

— — —_— — -~
(L) 528 2) 529 N W P
3 530 4) 531 )

Options:- @

.1, Option ID :- 15935,
« 2, Option ID :- 15936,
. 3, Option ID :- 15937,
. 4, Option ID :- 15938,
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Answer Given:- 2, Option ID : -15936

Subject : GP_Set3_B
Question ID:- 4154

Given below are two statements :

Statement I : Wind farms are generally set up on exposed hilltops or coasts in remote

—
—— areas.

Stat tII: Wind velociti teady jn th te locatl ,f,
atemen ind velocities a ege remote locations

In the light of the above statements, Choose the\n:ost appropriatﬂanswer from the options

given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.

(3 Statement I is correct but Statement II is i_ncorreci/

(4) Statement I is incorrect but Statement II is correct.
e g1 e fep e 2
w9 (1) : TS UE: g &E 4 wmifedl ¥ oge o fm wvEn omg 9@ w Tt fRe
A # N
FuA (II) : sngtmﬁmqa{ﬂﬁrwzﬁ?ﬁivg
e

e o 3 e B, mhwmqﬁmmwﬁm\\ne St

(1) T (1) =71 (II) =1 AU
Nofes
i$i:(l)ﬁv,ﬁﬁﬂaﬁmﬂﬁw\/

4)  F (1) T 7, ST we (1) TE

Options:-

.1, Option ID :- 16079,
. 2, Option ID :- 16080,
« 3, Option ID :- 16081,

. 4, Option ID :- 16082,
Answer Given:- 1, Option ID : -16079

Question ID:- 4146
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The set of attributes shared by all and only those objects to which a general term refers, is
called : — ——

(A) The intension of that term
(B) Connotation of that term /

(C) The extension of that term V\\G

(D)  Denotation of that term

Choose the correct answer from the options given below :
li (A) and (B) OIE]

(2) (C) and (D) only

(3) (A) and (C) only

(4) (A) and (D) only

iﬁa&wﬁmwa’rmﬁmmmﬁaﬁaﬁﬁmﬁ%ﬁﬁﬂﬁ@mﬁméﬁﬁ%mw%.

Haeld %_ —

(A) g T AT \/

(B) W%?ﬁwﬁiﬁ%ﬂ
(C) 58 W = faean
(D) =39 9Z FI FradeEal

= fav o fawedt § § TF 3 # =99 Hitan

o e ®)
(2)  #aw (C) #R (D)
(3)  FAS(A) 3 (C)
(4)  FAA(A) R (D)

Options:-
.1, Option ID :- 16047,
. 2, Option ID :- 16048,

. 3, Option ID :- 16049, ' O
. 4 Optlon IDN@X@MQ A’ U

nliine S\

uestion'ID:- 4122

Which theory of learning supports reflective level of teaching?

(1) Theory of conditioning (2) Reinforcemet theory
(3) Need-reduction theory \(4) Cognitive field t-heora
mwﬁ—mm%m%wwwmm%?
—— c— -
(1) & = fagE (2) e fagm
(3 FAETHFRA - Egia L{zl) AATEF - |Higm
Options:-

.1, Option ID :- 15951,
. 2, Option ID :- 15952,
. 3, Option ID :- 15953,
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. 4, Option ID :- 15954,
Answer Given:- 4, Option ID : -15954

Question ID:- 4158

On which of the following date National Education Day is celebrated each year?
( 28 Feb “ (2)  5June ——

® TNa v~ @ 1D “'
e o famm e A etatEa ﬁﬁ(ﬁﬁqﬁfﬁﬁﬁﬂww%? \/
(2) 59

(1) 28 == 3 (3
o [ o 1 e }
Options:-

.1, Option ID :- 16095, W

. 2, Option ID :- 16096,
. 3, Option ID :- 16097,

. 4, Option ID :- 16098,
Answer Given:- 3, Option ID : -16097

Question ID:- 4126

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reaszon R.

Assertion (A):  Formative assessment 1s process linked and directed at raising motivation
and engagement levels in learning. —_—

Reasons (R) : The purpose of formative assessment 1s to lmprove guality of learning
e, —

——

In the light of the ahove statements, Choose the most appropriate %
given below : Q 5‘

Both (A) and (B) a ect explanation of (A),
(2) Both (ﬁ XE (R) 12 NOT the correct explanation of (A).

lﬁ 1s cirre ) 1s not correct. =
) 1s not correct but (R) is correct. @
4= &1 e f2u U 2 ;v w@fiwyE (Assertion A) % =9 § fafEd 7 H}TEETFEF%EW (Reason R) %

E

AR (A) THIOTen STTRe R B Al ST § W 8 S 3EH W wN R T S

s | e B 21
FAM (R) : fFratorerss e 1 wErEe st aftoet it e § gun | 2

S FU A °, 9= B e 8 O ged e 39 w0 99T Hia

l(l} (A) 377 (R) 31 TET & 317 (R). (A) = =Et vm@ﬂ
(2)  (A) 3R (R) IFT T&l &, =06 (R), (A) =l @61 0@ 781 8

@ (T R TR Mq
/

@)  (A) = T R, W@ (R) T 2

~Etyady
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Options:-

.1, Option ID :- 15967,
. 2, Option ID :- 15968,
. 3, Option ID :- 15969,

. 4, Option ID :- 15970,
Answer Given:- 1, Option ID : -15967

Question ID:- 4157

Which of the following are essential for good governance of colleges and universities?

(A)  Academic autonomy \/
(B) Legal autonomy
(C) Financial autonomy

(D) Administrative autonomy

Choose the correct answer from the options given helow :

@ \ @ ©. ey |
(2) (A). (B), (C) only

(3) (B). (C), (D) only

(4) (B). (C) only

TeTeETeEl 37 Evataemem % 300 W0 od Heenad 0 O FA-0 SETEE 2 7

e

(A)  FFEEF EI'I?F!H'E\/
(B)  durfa =

(C) fasita mﬂm\/

(D) TS Waﬂy

1) F&= A, (). (D) tés AU

. (C). (D)
(4)  %ad (B). (C)

i

e 5

Options:-

.1, Option ID :- 16091,
. 2, Option ID :- 16092,
. 3, Option ID :- 16093,

. 4, Option ID :- 16094,
Answer Given:- 2, Option ID : -16092

Question ID:- 4160
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/ “Destiny of India 1s being shaped in her classreoms")this 1s stated in

e

(1) University Education Commission (1948)

(2) Education Commission (1964)

(3) National Education Policy (1986)

(4) National Knowledge Commission (2005)

i ]

(gm0 9 soft wenat © ffdg 2wy 2 98 Fua fefefas § & fead wer = w?
s, B

(1)  Tavafaamem faem s (1948)

(2) lﬁwmm (1964) '\ /

(3) g forem g (1986)

(4 Td@m 7= @ (2005)

Options:-

.1, Option ID :- 16103,
. 2, Option ID :- 16104,
. 3, Option ID :- 16105,

. 4, Option ID :- 16106,
Answer Given:- 2, Option ID : -16104

Question ID:- 4151

Match List I with List IT S A U O n\\

List T ,Q:‘-(e : List IT
- 5 mpuger ents) \/ (Description) "
i : D (I)  Visual Display Unit

(B) RAM = —(II) Volatile Memory
(C) ROM I) External Memory
(D) CRT Non-Writable Memory

Choose the correct answer from the options given helow :

(1) (A)-ID), (B)-III), (C)-IV). (D)-D)
(2)  (A)-IID). (B)-(ID). (C)-(I). D)-(IV)
(3) -(IV). (B)-(III). (C)-(ID). (D)-(D)
A ( (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)
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git-1 % =1y g=A-11 =1 foes Hifse
T
FEHI HEF
(A) HDD
(B) RAM
(C) ROM

(D) CRT

= 2o famedt 8 | wE I w1 =99 i

(1) (A)-AD. (B)-dID. (C)-aV). (D)-(D)
2 (A)-dID. (B)-(aD. (C)-(D. (D)-(IV)
(3) A)-(IV), (B)-(III). (C)-(ID). (D)-(I)

(A)-(I1ID), (B)-(ID). (C)-(IV). (D)-(D)

Options:-

.1, Option ID :- 16067,
« 2, Option ID :- 16068,
. 3, Option ID :- 16069,

. 4, Option ID :- 16070,
Answer Given:- 2, Option ID : -16068

Question ID:- 4147

With regard to computer memory, which of the following statements arg TRUE? Stu dy
A Secondary storage is slower, cheapel ﬂnﬁ . torage.

Tape drivedare

ig?e comte ot forms of RAM are volatile, thus making them unsuitable for long

rm data storage.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only

(3) T (A) and (C) or}]ﬁ

(4) (A). (B) and (C)
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FOA UAN F Tag U HEfaiad § H wE-H F9F 0 2 7

—
\yn/ TRt} TR WIS TR ST qer § i, T 9 w5 SR v g

(B) 2 g15am it ugw T 3w (fsamm) 21 R

\9/ ™ (RAM) ¥ Talfas =71 % Fz wifear (Ireersa) 7d 3| 30 THR ° 3% fEErd 32 =R F

AT sruTs T 2

= f2u U fomredt ® © wEl 3T H =99 it

(1) === (A) 311 (B)
(2)  ==Ew (B) #R (C)
(3) Lﬁ%ﬁ (A) 3 (C) \

(4)  (A), (B) # (C)

Options:-

.1, Option ID :- 16051,
. 2, Option ID :- 16052,
. 3, Option ID :- 16053,

. 4, Option ID :- 16054,
Answer Given:- 2, Option ID : -16052

Question ID:- 4155

Given below are two statements : One 1s labelled as Assertion A andit r bel%tu y
Reason R. ’ Q n '

Assertion (A):  Productign M enewable Energy sources 1z without
ke 0 acts.
Ctede s

v
P WH) : efe”ls no net emission of carbon di-oxide into atmosphere from
ci exploitation of Renewable sources of energy. \/

In the light of the above statements, Choose the most appropriate answer from the options
given below :

o

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A).

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
(3) (A) 1= true but (R) 1= false.

(4) (A) 1= false but (R) 1s true.
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I 2 e 5T U B ;. uF SfFE (Assertion A) % =9 § fafigd # A E@Umm (Reason R) #
ETH :

~ >
AR (A) \(Haﬂwvﬁﬂﬁﬁﬂﬁﬁ fora dm|q4$ﬁﬁdawuﬁawm qﬁ?ﬁ%17‘

——

=mm (R) : St Sl w@Al ® 3 W AEEsd d wEA SEAFHES H HE U (F2) oA
TEl wa B N * —

IR FYAI % A °, A= 9 T el § @ 5eE 39gE I H 99 R

(1) (&) 3R (R) ZA TS F S5 (R). (A) F FH = 2
@) (A) R ®R) A A F, G R). (A) Fi T8 = = e
(3) _ (A)=e B, wife (R) 3/ &

(A) #78ea 7, = (R) oed 2

Options:-

.1, Option ID :- 16083,
. 2, Option ID :- 16084,
. 3, Option ID :- 16085,

. 4, Option ID :- 16086,
Answer Given:- 1, Option ID : -16083

Question ID:- 4153

According to India Meterological Department, average sustained wind speed over 3 minutes
—

of €gyclonic storm Jis in the rapge” —

India Meteorological Department Tropical Cyclone Intensity
Scale

Category Sustained winds (3-min average)

Extremely Severe Cyclonic Storm 90—119 kt 166—220 km/h
Very Severe Cyclonic Storm 64—89 kt 118—165 km/h

{Severe Cyclonic Storm 48—63 kt 89—117 km/h
” e Cyclonic Storm 34—47 kt 63—88 km/h

(1) 40 — 50 km/hr

(2) 50 — 60 km/hr

(3) | 63— 88 km/hr

« 200 — e
)\ \jﬂ 7\ ve
I At W%&jﬂi{,m@Sﬁﬂzﬁaﬂwﬁﬁwﬁﬁ%{ﬁ%-
— -

(1) 40— 50 fw.4. /4.
(2) 50— 60 .7, /4.

Ve
® L os-ssrags v~ %—'

(4) 200 - 225 FR.. [4.

Options:-

.1, Option ID :- 16075,
. 2, Option ID :- 16076,
. 3, Option ID :- 16077,
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India Meteorological Department Tropical Cyclone Intensity Scale

Category Sustained winds (3-min average)

Extremely Severe Cyclonic Storm 90–119 kt 166–220 km/h

Very Severe Cyclonic Storm 64–89 kt 118–165 km/h

Severe Cyclonic Storm 48–63 kt 89–117 km/h

Cyclonic Storm 34–47 kt 63–88 km/h
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. 4, Option ID :- 16078,
Answer Given:- 3, Option ID : -16077

Question ID:- 4145

“Famous Singer Himanshu says that Coffeehill chocolates are groovy. We can only conclude

that Coffeehill chocolates are groovy indeed”. —

Which of the fallacy is commited in the above statement? (Vg . \
(1) Hasty Generalisation (2) Appeal to unqualified authority

(3) Slippery slope (4) Missing the point /\/

v -
ﬁzmmﬁ%%ﬁﬁﬁamm?ﬁotwm 7 Ty ferer @4 & T wifiee

e 2y, D7 @DEY
UG FYA ° g 7 o aﬁq—@

(1)  SearErs 3 g Z)vt TerereS OTeERRl (=46) F 9 Hﬂ/:/
(3) frowd = (4) TFEE] T TEEA
Options:-
+1, Option ID :- 16043, Appeal to unqualified authority - This is only a
. 2, Option ID :- 16044 fallacy when the person being put forth as an
! ! authority has no special qualification or is biased
. 3, Option ID :- 16045, in some way, or else only one authority is cited on

an issue where there is considerable

- 4, Option ID :- 16046, disagreement between authorities, (such as

Question ID:- 4156

(3) Nitrogen dioxide

IE -%ﬁww@w%ﬂﬂuﬁ%— /
v (2) FTEA HATATFHES }

(3)  ATEZIEA SEATFEES ,(4) TRl SEHAFHES

RGN

Options:- N’(P‘

.1, Option ID :- 16087,
. 2, Option ID :- 16088,
. 3, Option ID :- 16089,

. 4, Option ID :- 16090,
Answer Given:- 2, Option ID : -16088

/
‘Wheezing 1s the most relevant Health Effect in case of the air poliutan& Stu

Question ID:- 4140
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Appeal to unqualified authority - This is only a fallacy when the person being put forth as an authority has no special qualification or is biased in some way, or else only one authority is cited on an issue where there is considerable disagreement between authorities, (such as philosophy or religion)
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xS

A watch reads 4.30. If the minute hand points East. in which direction will the hour hand
point? —

(1) North (2) North-West
(3) South-East (4) North-East

% 9gi 4.30 77 fom @ 21 3fc e i g oF fom =i se = R A ae i gg e fom =6 st
'\.n? N ——

Y
1 T % f](zn T

. . S
o s Y
9
Options:- '@
.1, Option ID :- 16023,

. 2, Option ID :- 16024,

From the diagram at 4.30, the hour
hand is 45 behind the minute hand,
. 3, Option ID :- 16025, so moving 45 anticlockwise from

. 4, Option ID :- 16026, East, we are in North-east direction

Answer Given:- 3, Option ID : -16025 and thus, hour hand points NE.

Question ID:- 4133

Which of the following are parameters of an effective communication?

——

(&) Freedom to see and hear. What is hey
(B) Freedom to say. What one thinks and feels? \/

(C) Freedom to decide. What should be. was. are, will he?

(D) Freedom to feel. What one feels'.’\/

D ————

(E) Freedom of always waiting for permission.

Choose the correct answer from the options giwven below

@)/ (A). (B) andy(D) onlife S ﬁ U
(ay ® ki lchonk L"

(B). (C) nd (D) only

4 (C). (D) and (E) only

ay


91956
From the diagram at 4.30, the hour hand is 45 behind the minute hand, so moving 45 anticlockwise from East, we are in North-east direction and thus, hour hand points NE. 
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frfafas 0 9 F14 § UFH-Um WA T S g9 A 7

\y)/ aﬁw%?—ﬁéﬁiaﬂr@ﬁm/
\}B( ﬁWHlﬂdlmHoﬁHQﬂm_}'V—Tﬁiﬁﬁﬁﬂ/
(C) 91 &A1 =Ifew, o ga, 41 B W1 R, FEm? - I% i o fi mhEEa e

\6} ﬁwwm%?—ﬁmmﬁﬁm\y

(E)  ®HYN AT % $a9i H E=aEd] %

I f2u v foweT 0 O mE 398 1 999 Sia

(1)/ Fa (A), (B) R (D)

(2) A (A), (B) R (C)
(3) A (B), (C) 3 (D)

(4) %= (C), (D) =1 (E)

Options:-

.1, Option ID :- 15995,
« 2, Option ID :- 15996,
. 3, Option ID :- 15997,

. 4, Option ID :- 15998,
Answer Given:- 3, Option ID : -15997

Question ID:- 4129

ListI
Reszearch Steps

(A} Definirghg g sfard

rpothesis making

Approprlate statlstlcal techniques for
data analysis

I) Representativeness of the units chosen

( C) Dlamng a research sample (III) Identifving the variables for setting up

a plausible relationship —_—

(IV) Carefully chozen terms and concepts
with operational descriptions, if need
be.

(D)  Hypothesis testing

Choose the correct answer from the options given below :

(1) (A)-D. (B)-dI). (C)-(I1I). (D)-(IV)
2 @)-dD. (B)-(D). (C)-(IV), (D)-(I1D)

(3) (A)-(1ID). (B)-AV). (O)-(I). (D)-(II)
4) (A)-AV). (B)-(IID). (C)ID). (D)-(D /

T Te—

Match List I with Llsf Q/ n\ \n e Stu
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g1 % Ty g-11 = e fifa
I Tt-I1
911 = = e fereram
(A) I FEE F afer e
(B) ieT AT FT
(C) =g wigewt =

ATRE fayerw &g wafEa wiferfE T

(II) ==fa gt i T -

(III) 3Fg deg wfud == 2g =0 #1 929
F

(IV) STEwaal 9+ 2, % fa=eo ated

T Ta7 ST SEarEmE =i

TEGHEF =T

(D) THFETAT T

= fau v famed § 0 OE 39w 99 S

(1) (A)-D. (B)(II). (C)-(III), (D)-(IV)
(2) (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1I)
(3) . (A)-(II). (B)-IV). (C)«D), (D)«(II)

(A)-IV). (B)-(III). (C)-(ID). (D)~(I)

Options:-

.1, Option ID :- 15979,
« 2, Option ID :- 15980,
. 3, Option ID :- 15981,

. 4, Option ID :- 15982,
Answer Given:- 3, Option ID : -15981

Question ID:- 4142

which of the following fallacy?

Official Paper 3

(1) Viruddha (Contradicting res Dec 2019 Shift- 1

(2) Natur \
x% established reason (asiddha) Ld-p
4) ‘ature of unoppozable reason (a Satpratipaksa) -
A o SN, T - ] e ® 991k 78 Y91 vl v, °§ fretatiaa § ° #9891 seeE B 7
— ——
1\ g (2) wTaufaus
(3) wIfwg (4) FEAUTaUE

Options:-

.1, Option ID :- 16031,
. 2, Option ID :- 16032,
. 3, Option ID :- 16033,

. 4, Option ID :- 16034,
Answer Given:- 4, Option ID : -16034



91956
Official Paper 3: Held on 4th Dec 2019 Shift - 1
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Question ID:- 4137

A milkman has been mixing water with milk to earn 25 per cent profit by selling the mixture
at the cost price. The ratio of water and milk, respectively, 157 \/ —

1) 4:5 @) 5:4
3 1:5 @ 1:4

wF gra—foshdl 56 YESE ® g9 § 5 fHerar w1 2 36 Se-Tafad 59 # ug 99 F e 9od W |
25 e 1 T W B T AR 59 FATI B -

1)  4:5 @ 5:4 m‘f\i
3 1:5 \%1:4 \ /)_

Options:-

.1, Option ID :- 16011,
. 2, Option ID :- 16012,
. 3, Option ID :- 16013,

. 4, Option ID :- 16014,
Answer Given:- 1, Option ID : -16011

Question ID:- 4150

Given below are two statements :

— NS

Statement 1 / A web browser 1s a piece of software that retrieves and displays web pages.

Statement II J A search engine 1z a special kind of website that helps people in finding

web pages from other web-sites.

.~ QY
In the light of the above statements, Choose the corrOlWﬁ\D‘lﬂ'@ﬁS 5

below : ﬁ U

(1) Both N&@&%ﬁt II are tru\e/
cx%yth Statement I and Statement II are false.

(3 Statement I iz true but Statement II is false.

4) Statement I 1= false but Statement II 1s true.
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= 31 = fam o E

F97 (D) : TG FISAT UF TG & A g9 UH H1 EE0 w56 w0 B 3 UShig A 2
o (1) T9 S5 US (99 UEE i SEHEEe & A0 A R A J9" J1220 § 99 UA U S o
Hag w0 2

IV FUF F AAF H, T4 250 T e § 3 w8 39w 2w A

(1) =M (D) 3R (1D 3 m\ﬁ/

(2) = (D) =0 (II) 3 398eg 7

(3) =3 (1) Ted 2, witera = (1) 37ees 2

(4)  F () FEA B, A w9 (1) w7 7

Options:-

.1, Option ID :- 16063,
. 2, Option ID :- 16064,
. 3, Option ID :- 16065,

. 4, Option ID :- 16066,
Answer Given:- 3, Option ID : -16065

Question ID:- 4128

In ‘two groups. randomized subjects post test only research design which of the following

may be the source for jeopardizing validity? .

(A) Pretesting procedures \ \n
Measuring instruments O n
Intera@gonof t ent variable
y ctlmgnta procgures

15 a

tistical 1 ezr ession

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (D) and (E) only

Eryay
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=1 gHE! a1t Agfegsha TESAl Ut hee 9¥E W ot 9 S & sard Juar ®i & s & ard

% =1 # fFrafafad 7 & #9-9 &9 #6E F:id 87

(A) AT whE 'L.\ /
(B) ’\ae

© W@%Wﬂt%iﬁaﬁ% QA’ ’“/Y /

(D)  wiafearsie =R uﬁh‘m

(E)  wifeashg gamsEm

= fau u fawedi § | E 3T o =9Ee i

(1) =& (A) 3T (B)

(2) =& (B) #R (C)

(3) \%aa<0>aﬁum|

(49  aw (D) @7 (E)

Options:-

.1, Option ID :- 15975,
. 2, Option ID :- 15976,
. 3, Option ID :- 15977,

. 4, Option ID :- 15978,
Answer Given:- 3, Option ID : -15977

Question ID:- 4127

measzurable would mark the char acter'Eﬁch eatures of w

Narrative resealch e earch

Gr ounNe Experimental research
cis% v i mwmmﬁmﬁmn@mmm%

(1)  faeoness oy (2) FweE 7y
(3)  sAmuiies fagawes Wy (4) TEFTERE WY
Options:-

.1, Option ID :- 15971,
. 2, Option ID :- 15972,
. 3, Option ID :- 15973,

. 4, Option ID :- 15974,
Answer Given:- 3, Option ID : -15973

\deatmg purpose statements, research questlons and hypotheses than é?‘owg anétu y

Question ID:- 4135
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Matech List I with List IT

ListI

Styles that impede communications

List IT

Characteristic feature\/

(&)
(B)
(©)
D)

Placating e
Blaming e

Computing

Distracting /

Choose the correct answer from the options given below :

Fr= feu U fommedl § © TEl 3T H =99 ity

1) A-OpB mw&
d-aj ( -0, (D)-(I1D)

1%

i% )-(ILD), (B)-(IV). (O)-(D). (D)-(1I)
(4)

4) /(A)-@V). (B)-(III), (C)-(II), (D)-()

Options:-

.1, Option ID :- 16003,
. 2, Option ID :- 16004,
. 3, Option ID :- 16005,

. 4, Option ID :- 16006,
Answer Given:- 4, Option ID : -16006

Doing or saying what 1s irrelevant.
Being overcorrect.
I) Fault finding and acting as superior.
S —— e —

(IV) Talking in an ingratiating way

1 A-@. (B)-AD). (C)-I1I). (D)-IV)
2 (A)-D. (B)-(D). (C)-(IV). (D)-(III)
(3 (A)-(II). (B)-(IV). (C)-(D). (D)-(IT)
4) (A)-AV). (B)-(IID). (CO)-(1I). (D)-(D)
Ft-1 % 9 g1 =1 s fifaw
-1 FELII
It S T § ST 2 o
(A) TfeFm (I)  =7HTa =Td AT A A
(B) @ (IT) _ 913 = wia 1 seamel &
(C) wmame I) Tt 221 AR E0 F dEa aEE S
AT
(D) =AR-97A IV) #FMEva® &9 O a2 & & Tai=T o @

Au6

ne oM
@)

Question ID:- 4159
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Match List I with List IT. Match the features of education of various types. \/

TastI List IT

(A) Ancient Vedic Education () Equality was the foundation of

student-teacher relationship

(B) Post Vedic Education ) Enrichment of Lknowledge and

experience

(C) PBrahmanic Educatio I) Knowledge results 1n wiping out

falsehood

(D) Buddist system of Education Emphasizs on character building and

R

self realization

Choose the correct answer from the options given below :

1 @-@. B)-av). (C)-IIl). (D)-ID)
(2)  (A)-av). (B)-(. (C)-AD). (D)-(III)
(3)  (A)-IID. (B)-(ID. (C)-(D). (D)-(IV)
(4 (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)

Hef-1 % w11 =1 frers it o v £ foar w338 e # e fia)

lf-ﬁ—II
(A) afeh 12 (I)  =TEHaT TH-Tors derg =1 e o1
(B) II) 9 3 999 = Gag ST
(C) II) =t 74 e =1 fHamm 2
D) g fae o V) =f fim s se-fafg o s fon

e Stu
" .
= f2u v fommeal § © OE 3T R =99 i ne

(1) (A)-(D). (B)-(IV), (Cp-( AU
@ )(IN tlé’ta
65 )-a1h, BaD, (©)-@. O)-aV)
(4) A)-(ID). (B)-(I1I). (C)-(IV). (D)-(D) /
Options:-
.1, Option ID :- 16099,
. 2, Option ID :- 16100,

. 3, Option ID :- 16101,

. 4, Option ID :- 16102,
Answer Given:- 2, Option ID : -16100

Question ID:- 4130
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Given below are two statements :

Statement I : Research ethics forms a genuine concern for research to lend credibility in
findings.
Statement II : Use of ICT in research 1z mandatory as it 15 economical in terms of time

and use of resources.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

[~
y Statement I 1s correct but Statement II 1s incorrect. Q.)’
(4) Statement I 1s incorrect but Statement IT 12 correct.
i 27 =y fag T 7
Fa (I) : Mg AER-uE R 8 favaedEar @ % e e #g uw gk wuEn i
AT 2|
T (ID) : o | e w A w1 T AT R Rt g8 gRg oI TEe % U % gy |

SUEIE YA % AT °, F 50 T el § @ weE U 3T ] =E i

(1) =g (1) =0 (II) 341 a1 &

@ N R 2
ASY
.1, Option ID :- 15983,
. 2, Option ID :- 15984,

. 3, Option ID :- 15985,

. 4, Option ID :- 15986,
Answer Given:- 3, Option ID : -15985

() A (1) 377 (1) 3T Teia & \'\ne Stu
(3) % (D) W &, =R o (1) e § U On

Question ID:- 4141

In a certain code language, 24685 12 written as 33776. How 1s 35791 written in that code?

(1) 44826 (2) 44882
(3) 46682 (4) 44682

ay
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FHiaw Fz 9T H 24685 F 33776 Toran 71 2| 3 FZ T 35791 Fi FE wEwR fomgn o

(1) 44826 (2) 44882 /

(3) 46682 (4) 44682
WML
Options:- W\ \1 ¢ 25 19\
.1, Option ID :- 16027, - 31 \‘\)(\ “\_\8 SL‘

. 2, Option ID :- 16028, VA X

« 3, Option ID :- 16029,

« 4, Option ID :- 16030,
Answer Given:- 2, Option ID : -16028

Question ID:- 4138

A 12 percent debt instrument flelds 20 percent return. The market price of the underlying
debt instrument 1s

(1)  Rs. 167 (2) Rs. 170
(3)  Rs. 60 (4) Rs.40

12 Tfeere =Te U RO-T9 @ 20 Tawr = o (Fe5) U 261 21 3% 0 999 F 6 g5 8 -

(1) 167 &3 (2) 170%=
(3) -J, 60 =5 ) \/ (4) 40 %9
Options:-

.1, Option ID :- 16015,

. 4, Option ID :- 16018, | AU On\

Answer Given:- 2, Qption

. 2, Option ID :- 16016, Stu
| g .
. 3, Option ID :- 16017, \\’\e

fSY
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Given below are two statements :

Statement I : The works in Nyaya- Sastra discuss the aggregate causal conditions and
—— FI—

the process involved in inferential cognition.

Statement IT : The works In NyEya-SEstra do not however dwell upon analysis of the

factors that help to asseszs and decide the formal validity of a judgement.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
3 Statement I 1s correct but Statement II is incorregf.
(4) Statement I 1s incorrect but Statement II is correct.
= 21 e fem o -

A (D) \/';ﬂ'lm F WY HATE FROERAT afaE au saEEes 3= g HfEa afmar o=
TG B

oA (ID) ; - * 19 a3 el & favemy w A T8 e A ol i efteete

*

AT T AT T A FE = E " w1 2

IR FUA % S §, S 50 T et § 9 wee Suge S w0 9Ee i

(1) e () #= (1) 51 a4 &

(2) o (D) 3 (1) 2 T On\\
(3)  ww @ E=ye, i g U
2

Options:-
.1, Option ID :- 16039,

. 2, Option ID :- 16040,
. 3, Option ID :- 16041,

. 4, Option ID :- 16042,
Answer Given:- 1, Option ID : -16039

Question ID:- 4131
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Given below are two statements : One 1s labeled as Assertion A and the other 1s labeled as
Reason R.

Asszertion (A):  Format and styles of referencing in thesis writing are enforced with a view
to effect observance of formal protocols.
Reasonsz (R) : Formal protocols ensure avoldance of deviations from norms and
— procedures of reporting research.

In the light of the above statements, Choose the most appropriate answer from the options
given helow :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3) (A) 1s correct but (R) 1s not correct.

(4) (A) 1= not correct but (R) 18 correct.

F=t g wom fou U R ;o iTEYH (Assertion A) % w9 ¥ fofigg & @ ?yﬂm%m (Reason R) #
=g

AT (A) ; ﬁa—ﬁa%ﬁ@ﬁwﬁ%ﬁmmﬁmﬁm
afsfrem 1 % TS T A S 2

FT (R): S TErEe TfEfed e AeEst SR e 8 e # i g

1
FIAT BT &

T FUAT ok A 4, B fawewi 8 ¥ 5ed 39gw I F0 999 Rl

(1) (AmﬁiRJEﬁ‘ﬁmﬁ_r%#cR),(A}fﬁaﬁW%/
@) (A 3R ®) A @ E, | (R). (A) i FE =wen 96 2
(3) (A=A 7, @ (R) wE T R

@ Q=T R, A R)FE 2 | . e S-\u
gmyNotes Ay ONN
l p'.n:E;-:5989,

. 4, Option ID :- 15990,
Answer Given:- 1, Option ID : -15987

Question ID:- 4134
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Given below are two statements : One 1s labeled as Assertion A and the other 1s labeled as

Reason R.

Statement I\/ Communication is the process of transmitting a message from a source to

an audlence via a channel.

Statement Ii/ To establish ‘Commonness’ between the source and the audience is

effective for success of communication.

In the light of the above statements, Choose the correct answer from the options given

helow :

(1) Both Statement I and Statement II are true. 10

—

(2) Both Statement I and Statement II are false.

(3) Statement I 12 true but Statement I1 1= falze.

(4) Statement I is false but Statement II is true.

= 2t A feu o F ;v wfieRus (Assertion A) % ®9 H foifad 2 HT =% 0 (Reason R) &

?\Eﬂlﬁ:

o 1 AT AfGF TAE TEMG 99 B 2 99 @ SR (e (FEwwn) # s
=T A - -
————

T 11 : g w1 frfter oom @9 o9 % a0 g i v & o9 # wEm el

= PRk

IUERE FYA] F AT °, 949 20 T fawedt 8 | geg suge I 1 =99e Hifan

o 1 3w 11 31 ot & On\‘\n

x$§ ﬁ;;\g;tg:@ AU

Options:-

.1, Option ID :- 15999,
« 2, Option ID :- 16000,
. 3, Option ID :- 16001,

. 4, Option ID :- 16002,
Answer Given:- 1, Option ID : -15999

o Stu

Question ID:- 4139

The difference between the simple interest received from two different sources on Rs. 1,500
for three vears i1z Rz, 13.50. The difference between their rates of interest 1s

1)  0.1% @ 0.2%

1..
3 0.3%) ' RN & (4) 0.4%
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/N\

1500 ®9 =1 9=EI19T T 2l SenT- AT Hial ¥ 91 J91 2 [ UTH HIERy @E # Sat 13,50 T 2| 396
=TS B0 R R -

i

(1) 0.1%

(3) 0.3%
// P\‘
Options:- —
.1,0ption ID - 16019,  \weh P TS
« 2, Option ID :- 16020,
. 3, Option ID :- 16021,

. 4, Option ID :- 16022,
Answer Given:- 3, Option ID : -16021

Question ID:- 4149

Identify the correct order of the following computer storage capacities ranked from smallest
to largest capacity. \/

(A) 100 GBytes \/

(B) 10 000 000 000 Byte

(D) 100 000 M Byres/

(E) 1 000 000 KBytes
_—

Choose the correct answer from the options given below :

(1) (D), (B). (E). (A). (C)
(2 (E). (B). (D). (A). (C)
3 (B). (E). (D). (A4). ()
4 (E) (B). D). ()&

ffafas Foeger TRa gmaral Ff ga w0 ° ey Afa®
(&) 100 fm TSz

i Hores

five S

00 000 BT ==
1 000 000 et wrEz
= 2o T fowedl § | HE 3T #9899 S
(1) (D). (B). (E). (A). (C)
2 (E). (B). (D). (A). (O,
(3 (B). (E). (D). (A). (C)
(4) (E). (B). (D). (C). (A)

Options:-

.1, Option ID :- 16059,
. 2, Option ID :- 16060,
. 3, Option ID :- 16061,

. 4, Option ID :- 16062,
Answer Given:- 2, Option ID : -16060

Question ID:- 4152
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How many missions are there under the Climate Action Plan of Govt. of India?
FII—  ——————

(1) 4 2) 8

(3) 12 4 17

T TIHW =l AcTd1g FE T & I hed G 27

—

(1) 4 2 8
(3) 12 4 17
Options:-

.1, Option ID :- 16071,
. 2, Option ID :- 16072,
. 3, Option ID :- 16073,

. 4, Option ID :- 16074,
Answer Given:- 3, Option ID : -16073

Question ID:- 4132

The least contributor to noise in communication system by the audience 1s
(1) Selective attention (2) Selective perception
(3) Selectlve retention (4) Selective intention

TEO YO § AT gR S-S | HeH T qEAr B -

(3) ERCIE S R

- hyotes A

ID :- 15992,
. 3 Option ID :- 15993,

. 4, Option ID :- 15994,
Answer Given:- 3, Option ID : -15993

v e\ INE S".U‘d\-l

Question ID:- 4136
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Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reaszon R.

Assertion (A):  More effective communication accurs when source and recelver are
homophilous.
Reasons (R) : Source and recelver use same language and words to stimulate similar
— S
meaning.

v

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3) (A) 1= correct but (R) 1s not correct.

(4) (A) 18 not correct but (R) 12 correct.

I = weH fou w2 ;v sty (Assertionﬂ]%ﬁ@ﬁ%ﬁ@?l%?ﬁ?@ﬂmﬁim (Reason R) %

=

SR (A): W I T AT T A A E v w afe w2

F (R) Hid U9 AT UF HOH A9 FI0d A Bd U 8l ode i I Td g1 w0 SuEn
w0 2

<

IR FaA A A, A9 i o e § @ w9 I =96 i f dy
S . S 8
(1) /7 (A) ¥R (R) 21 &8 & 3 (R). (A) 1 8 A= & g \\ne

(2) (A) T (R) ;71:11 e, : ,‘ﬂ‘l \ |

iéi)ﬂﬁﬁ%,%m}ﬂﬁ%

Options:-

.1, Option ID :- 16007,
. 2, Option ID :- 16008,
. 3, Option ID :- 16009,

. 4, Option ID :- 16010,
Answer Given:- 2, Option ID : -16008

Question ID:- 4143
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With reference to pramana theory both on dialogical and philosophical discourse, which of

the following options are correct?

(A) It furnishes the required grounding for the thesis to be backed up by a certaln means
of knowledge.

(B) It provides the necessary platform to incisely analyse the proposed thesis.

(C) It enables us to succinitly summarise the observations, that stem out of analysis, in
the form of anumana or nyava prayoga.

(D) It enables the debater to elicit acceptance of his/her own belief system on the basis of

formal validity alone.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A), (B) and (C) only
(4) (A), (B) and (D) only

HATEF i ERE 2 9 A wefad T g el § fettes ¥ 8w e wd 20

————

-{é}/ Tz ATGIAON 7 AUTET 9T UeM AT 2 famedht wiaua 5= % wrae g srfagie 2t 2)

\93‘5’ Tz AT AR o e # e w2 e 5 0EE w2

\2}/ T TYEIo @ W Saw H HAIHE HUE A TAT w0 W AReiEa S 5 w6 s 2l
(D) 7% =ewwal F AHS SAEIE A9 % AN W A T A e wne w e e o

a7 T &

1= 2w U e § W HE 39 T 99 HiE

= (A) 3 (B)

- s iotes™

(A), (B) 1 (D)

Options:-

.1, Option ID :- 16035,
. 2, Option ID :- 16036,
. 3, Option ID :- 16037,

. 4, Option ID :- 16038,
Answer Given:- 4, Option ID : -16038

Question ID:- 4148
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With respect to computers, what 1z the main advantage of a Graphical User Interface (GUI)
compared with a Command Line Interface (CLI)?

(1) Provides higher level of security and requires less memonry

(2) Eaazier to use for non-experts "

(3) Performs complex tasks faster and requires less memory

(4) Requires less processing power

FEAN % WeW H, HATS OIS S0hA (H U o7s) fi gee § wiieer g9 S0Rd (S g aTE) g
A1 A B Y —_—

(1) 7= = < guaq gean aar 2 #Ai 38 %9 991 i F%iT it 2
(2) ﬁ?—ﬁ‘ﬂqﬁmm‘a’gmﬂ%\/
(3) et w1 9= TG @ HT 7§ AR 56 FH 99K i = e 2
(4)  =H W THET TE i FEE 26l R

Options:-

.1, Option ID :- 16055,
. 2, Option ID :- 16056,
. 3, Option ID :- 16057,

. 4, Option ID :- 16058,
Answer Given:- 3, Option ID : -16057

Question ID:- 4124
Mateh List I with List IT

ListI List IT
(Levels of teaching and learning) (Main feature)

(A) Autonomous development level

v Iote ;S ‘(II) Lays stress on the importance of

students’ feelings and minimizes the
is : value of hard thinking.
(C) nderstanding level (III) It is comparatively thoughtless.

)
(D) Reflective level (IV) It emphasizes on  seeing of
relationships between principles and
solitary facts.

Choose the correct answer from the options given below : \/

(B) DMemor i

(1) (A)-(). (B)-(II). (C)-(IID). (D)-IV)
(2)  (A)-ID). (B)-(IV). (C)-(D). (D)-(ID)
(3)  (A)-AD. (B)-ID). (C)-aAV). (D)-()
4  (A)-OV). (B)-(I). (C)-(II). (D)-(IIT)
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Statement I : ﬁow le
ASY.x

711 % Ty g=t-11 #7 frerm ifso

-1
foregm =7 wferm & o
(A) = fa=mm =

(B) 0 =

(C) F1aeiy &
(D) femet= =

I f2m T oeT § ® TR 39 9 999 S

1) (A)-D. (B)-(II). (C)-(III), (D)-IV)
2) (A)-(IID). (B)-(IV). (C)-(D). (D)(II)
(A)-(D). (B)-ID). (C)-AV). (D)-(I)

Options:-

.1, Option ID :- 15959,
« 2, Option ID :- 15960,
. 3, Option ID :- 15961,

. 4, Option ID :- 15962,
Answer Given:- 2, Option ID : -15960

(4) (A)-(IV). (B)-(I), (C)-(II), (D)-(I1T)

(@D

(I

ﬂ?ﬁ-ll

g faEmam

5 HHE higd Bidl B A9 THH SAGETHEAT
F wmemEd wfaw @fEm wriEr afes
FEUAT T G erar i T 2

? 3R w3 °= % Heed W w4 FA A

(III) 7= geFTea® &9 ° fa=meH 2@ 21

(IV) == fagmal =i i a2 & &9 Ha9 #

EH I S adl 2|

Question ID:- 4125

Given below are two statements :

A\Jpplma;mn levels in Blooms taxonomy

vel of cognitive learning.

Organization and characterization belong to higher level of affective

outcomes.

given below :

(1) Both Statement I and Statement II are correct.

In the light of the above statements, choose the most appropriate answer from the options

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II 1s incorrect.

(4) Statement I is incorrect but Statement II iz correct.
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= 31 = fam o #

F97 (I) =0 FI AT (FFEEE) B OFE, e 0 S T e e =

%Wf{ﬁﬁ'&lﬂgl

== (1) : \/oqciHn ST AT A TN 39 | HEad

SUEI YA % AT °, e 50 Tmenl § @ weE U ST R =E i

(1) = (1) 3 (1) 31 =8t &
(2) = (1) FR (1) 31 e #
(3) @A (1) 7@ &, A #97 (I0) 739 2

4) =y (1) e 2, =i e (1) TE R

Options:-

.1, Option ID :- 15963,
. 2, Option ID :- 15964,
. 3, Option ID :- 15965,

. 4, Option ID :- 15966,
Answer Given:- 1, Option ID : -15963

Question ID:- 4123

——

(A) Perceives global aspects of concepts and materials L] e Stu
(B) Focuses on facts and principles O n\ \n
AU

Prefers to work alone
e Ll
(D) Seeks d a- d stration from teacher A

i{ es to cooperate

Identify the characteristics of field-dependent learners from the following? dy

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2)  (A). (D) and (E) only
(3)  (B). (C) and (D) only
(4)  (C). (D) and (E) only
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TreAfertiga 9 | $ies- 2150 AT ol i Sl i TR e

(A)  FFFaEmE o7 g F afvaw Wﬁ%?‘

(B) 2 AR fogml ™ == 3 7

©

D)

(E)

= f2u U fomreTi B © TR IO A =99 iAo -

(1) A= (A). (B) 37 (C)
2 A (A), (D) 3 (E) /

(3)  FA= (B), (C) 1 (D)

4) 4 (C). (D) 7 (E)

Options:-

.1, Option ID :- 15955,
« 2, Option ID :- 15956,
. 3, Option ID :- 15957,

. 4, Option ID :- 15958,
Answer Given:- 2, Option ID : -15956

Question ID:- 4161 ; Smdy
The new curricular and pedagogical st Ktme of ﬂ& &m osed by

NEP- :ch;xs N O_‘.es

(3) 2+5+3+4 (4 2+5H5+3+2

(2) 5+3+3+4

m%ﬁ—zﬁzomwmwﬁ%wwwmaﬁ?ﬁaﬁﬁm%\/

(1) 5+3+2+2 (2y b+3+3+4
(3) 2+5+3+4 4) 2+5H+35+2
Options:-

.1, Option ID :- 16107,
. 2, Option ID :- 16108,
. 3, Option ID :- 16109,

. 4, Option ID :- 16110,
Answer Given:- 1, Option ID : -16107
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Subject : GP_Set3_C
Question ID:- 4171

Read the passage carefully and answer the questions that follow r-l(‘ /

Through out much of the latter half of 20 Century, classropm dizcipline was focussed on the

1ssue of how best to respond to student misbehaviour. £he humanist and applhed behaviour

analysis approaches to classroom management shared the spotlight about equality during

this period. Both of these traditions are primarily reactive rather than preventive systems of

classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not hefore. More recent research. however, has provided another approach to classroom
management that frames the question of clazsroom order and discipline not in terms of
reaction but prevention. This approach is based on clazsroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
Inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizhed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study, 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weelks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to Ilnappropriate behaviour,
consistency of teacher responses, monitoring., and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals t tu
determine the extent to which students were attending to the - Fromts ethes L) ot
‘ “ﬂand other
consisting of legs e mt gm ersvation the rest of the vear. Those
g N:@ E'uore effective classroom managers were found to have

te hao
ignificantly higher student engagement rates and significantly lower student off task

teachers were classified in two groups. One cofsistinggof m

behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school vear,

20 f sl % ITRIEH § el SI9ER 1 qET o $H wd 9w o 6 Tl o geeen o uia e
ufafirm € @) @ wEfy F W Fa TEER A AeaaEE] S T S Aven e § /s
# wEumon | AR fFm w3 I wem wuftE ®9 O, Fa yeus F fEme et 2R % W
TiwaEE T #| 98 7% 3 wonfeami geaRr fi ge uied B9 F URcl TR Sfo® SEEh WG SHIgH
oA T T AW w2 | ETein, e B ° R 9 § e W o o7 TR 57w S0 gean wE
AT 2 W e AUl S SHINES B UgH WdlEal % €9 § T8 o (=0 o F9 | dAW ol 2 98
U Fal WS T WY W owda 2 gEaEn w UwA g wdrE fows wm e aoEe R eIk
FUEFS FA NI EF T A AR £ 9 WY F R W0 6 e % A sy e -
VT ST WHE o TSR] T HEE AR TS I R e S0 R | 6 O R UeE e
77 o1 o wrfirs wamei e TEU R wE THTET wAT TEYE % 8re WE $W SR W fRm w1 @ & TR
4 ZEFER % A TiaiE #H % 9 ZEEEn w6 UFA % O 9 39 FE 2 uF 99E o 27 WA
el =1 wm a0 F ATEEA- AT 2 941 (A T UGS §F AHiE % S U 9EE F a0 A9E
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U9\ 3 TEET § 3 000 e F =0 o s e

A teacher who focuses on feelings, psychological needs and emotions of the individual

learners is said to be following which tradition?

(1) Humanist Tradition / (2) Applied Research Tradition

(3) Classroom Management Tradition (4) Formal Discipline Tradition

a7 fores =1 ol At 1 wEE, RS el A gAEE W ge 241 8, 30 FE S A

Teferfiaa wem =1 AqueE g -

(1 H‘I’—Hﬁﬁ'l’dﬁm\/ (2) ATIE FIEGH WERT
(3) e TEET TR (4)  SFiTETRE ST T
Options:-

.1, Option ID :- 16147,
. 2, Option ID :- 16148,
. 3, Option ID :- 16149,

. 4, Option ID :- 16150, u
Answer Given:- 1, Option ID : -16147 :

Question ID:- 4170

Read the paSSN‘®5¥@‘5B questions that follow
*‘@Nﬂ much of the latter half of 20 Century, classroom discipline was focussed on the

1ssue of how best to respond to student mishehaviour. The humanist and applied behaviour

analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not hefore. More recent research. however, has provided another approach to classroom
management that frames the guestion of classroom order and discipline not In terms of

reaction but prevention. This approach is based on clagsroom research that examined what

O’

effective teachers do to prevent misconduct and what less effective teacherz do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while thev taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizhed more by what they

do to prevent misbehaviour than how they respond to misbehaviour. In a study, 27 third

e ol e AT i smrmses smasmrsbaad o om ssmmnn Tacma sk sssses ks bt der Theswien s blas Eoasd O vemales 8
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school several tvpes of information on each of the teachers including room-arrangement,
classroom rules. consequences of mishehavior., response to Ilnappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups, One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year.

20 f ATl % IEH ¥ wA SR H qed o $H W 9t we o1 B Tl % gslmen  ufa el
ufafman € @) @ sty % SHE Fe TR W Weaaas] s TEiiTE S| faven sueEi § s
H aEgron w FR fEm o 3 I wwm mufir w1 8, w5 s f Ens oorett 26 awm
TATREEE W £ a5 F 3 wnfei g=EEn f ve uied 7F F URd 96 Sfo® 39F 91 gEgH
T2 O T AW R 2| ETelin, e we § 20 g § wE Weue o o1 Uk 57w ST gRar wEn
T R W AT SHEeT si SHenEE W ure Afabea % w9 4 98 wiew s % w9 ° dwn W 2 9w
U Fal TES T MY W oanAiE 2 fF geaEn W U%A 29 wue fossw o soEw @ iR
mwmuﬁr@fﬂﬁwﬁmmﬁ%lmfﬂam AT T T A % 2R T i -
ST FFAT TR % TSTeERT T TSR N TETe S P e R T I e w5 v e
7z w1 T wifies waEl WA TEu oI IO w4 TEWE 4k dre 6% TH YR 9 R @ wea & TR
4 gaER % Ui ufdfmn w0 % #9 geEEn W U9 % U o Ivm w9 8 uE A H 27 W
e =1 v T4 F e AemEE B 9l T vem dF oo 2eE s fhws F e
TR =i SRTET SHeaT =i T2 T8 e —=aaean, Har tam, ?W_EU'F{UTTH ﬂf%lﬁaﬁ’ﬂiﬁ
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A teacher 1s effective manager 1f s/he

(1) Tries to respond to misconduct
(2) Tries to find the reazon for misconduct
(3) Punishes the student(s) for misconduct

(4) Prevents the misconduct

|\




1% forer g9l TEEE A B ¢ 9 aE

(1)  T=9er & Tid wfaw= F1 7= Fa 2

(2)  TEFER T FAW TA1 S i HGTT FET D
(3)  wHFEm = oo famndt (famnfumn) =1 afeq # 2

(4)  gEER w2

Options:-

.1, Option ID :- 16143,
. 2, Option ID :- 16144,
. 3, Option ID :- 16145,

. 4, Option ID :- 16146,
Answer Given:- 2, Option ID : -16144

Question ID:- 4168
Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century, classroom dizcipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applhed behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of

classroom management. That is they tend to provide solutions to misbehavior after it occurs,

1ve teachers do to create it.

reaction but prevention. This approach iz based on cljssro

effective teachers to ple n
Some of gthis u enatlan and analysis of hoth experienced and
ced t achels while thev taught. The major conclusion of this research was that

more effective and less effective classroom managers can be distinguizhed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study, 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weelks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to Ilnappropriate behaviour,
consistency of teacher responses, monitoring., and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher, From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Thoze
teachers who were categorized as more effective classroom managers were found to have

significantly higher student engagement rates and significantly lower student off task

hahaiiar durine wect of the erhnanl vear The more affartive manaeers satahlichad thamasalves

not hefore. More recent research. however, has provided another approach to classroom
management that frames the question of classroom order and discipli L) u
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as instructional leaders during first 3 weeks of the school vear,
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A teacher who emphasises the immediate reinforcement of positive behavior and punishment

together is said to follow

(1) Classroom management tradition (2) Collaborative learning

a?«l?fﬂ , HHT S 2 R aE A

(3)  Applied Research Tradition (4)  Humanist t1ad_1}:1t‘ n e St

forerss = H%Etﬁdo{ M{»a?? Tsh #ie

T TAYE e (2) wWEATTERE HETH
(3)  FEUET FFAGH TER] (4) TFEEETE T
Options:-

.1, Option ID :- 16135,
« 2, Option ID :- 16136,
. 3, Option ID :- 16137,

. 4, Option ID :- 16138,
Answer Given:- 1, Option ID : -16135

Question ID:- 4169
Read the passage carefully and answer the questions that follow

Through cut much of the latter half of 20 Century, classroom discipline was focussed on the




issue of how best to respond to student mishehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not before. More recent research, however. has provided another approach to classroom
management that frames the guestion of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules. consequences of misbehavior, response to Inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher, From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those

teachers who were categorized as more effective classroom managers were found to have

significantly higher student engagement rates and significantly lower student off task S t

behavior during rest of the school year. The more effective managers est @h’es
as instructional leaders during first 3 weeks of O
pd y Eﬁ‘-[ ‘f \- -
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According to classroom management theory on effective teacher

(1) Addresszes issues 1n the classroom

(2) Prevents the problem before occuring

(3) Discusses the problem after it has occured

(4) Tries to respond to the problem after its occurence

et e g @ wgEn, s weE s

(1) e | gagl =1 HuEe e 2
(2)  TEE Afd BF 3 9 3% Tl 2
(8)  TwEm % afed 7 9H % 9wEE 39 W] #al w

(4) TSN % A 7 96 F 9 369 FEE W oA e

Options:-

.1, Option ID :- 16139,
. 2, Option ID :- 16140,
. 3, Option ID :- 16141,

. 4, Option ID :- 16142,
Answer Given:- 4, Option ID : -16142

Question ID:- 4167

Read the passage carefully and answer the qt&\fo s that ‘
Through out ndiach af t %eo%ﬁ Cent j&lsroom discipline was focussed on the

1 (y 7 belt & d to student misbehaviour. The humanist and applied behaviour
isr%i pproaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not before. More recent research. however, has provided another approach to classroom
management that frames the question of classrcom order and discipline not in terms of
reaction but prevention. This approach is based on clazsroom rezearch that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
nexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they

do to prevent misbehaviour than how they respond to misbehaviour. In a study, 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,




classroom rules, consequences of misbehavior, response to Ilnappropriate behaviour,
consistency of teacher responses, monitoring., and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher, From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school vear,
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An effective teacher manager as per classroom management tradition

(1) Advocates adherence to rules

(2) Focusses on changing or modifying inappropriate behavior

(3) Incorporates interventions that stress communication skills

(4) Incorporates classroom rules. consequences and routines to keep student actively
engaged

el TEEA WO % ER, T9ET 95w Teah

(1) =i o s+ A i TR e B

(2) S HaEn F Ssee S9d] 36 A9igT e W e 291 7

(3) 37 EEOEdl F AHA FAdl 2 T HEE B AT 2 B
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Options:-




.1, Option ID :- 16131,
. 2, Option ID :- 16132,
. 3, Option ID :- 16133,

. 4, Option ID :- 16134,
Answer Given:- 4, Option ID : -16134

Subject : Psychology_A

Question ID:- 3834

Memory that is thought to contain knowledge, facts, information, ideas that can be recalled or
described in words, pictures, or symbols is called:-

(1) Procedural memory
(2) Episodic memory
(3) Semantic memory
(4) Declarative memory

wfy, foe 9 5 O STa1 # f® 98 09 39, 99, gE o G & aiatad #2441 8, 5 e,
T (fet) 3 fo=2f & w0 & <ram = @ faerm &7 5ed 2, Faardi 2 -

(1) " 5y (2) = HealEE Ty
(3) T EE (4) T EI
Options:-

.1, Option ID :- 14799,
. 2, Option ID :- 14800,
. 3, Option ID :- 14801,
. 4, Option ID :- 14802,

Answer Given:- 1, Option ID : -14799 Sw dy

Question ID:- 3835

home are kno

Young adults who return aﬁr Ieavghon& uue pQ I|ve in their middle aged parents

ne olent chlldren
) Boomerang children
(4) Compliant children

9z AAdH, F1 9 Bl & $8 5HY 97¢ 394 392 30 & wra-fud % = 1w & fero aifim sn 9 2, -

3% wE AR

(1) a=fam == (2 Tl ==

(3)  FH 5= (4) FIEH FH AT =
Options:-

.1, Option ID :- 14803,
. 2, Option ID :- 14804,
. 3, Option ID :- 14805,

. 4, Option ID :- 14806,
Answer Given:- 1, Option ID : -14803




Question ID:- 3827

Cattell proposed his theory of fluid and crystallized intelligences on the basis of which of the
following?

(1) First order factors of abilities

(2) Second order factors of abilities

(3) Third order factors of abilities

(4) Higher order factors of abilities

%ea 3 frfafiaa 1 4 fea & snar w awe a wxfea 9fg &1 s fagia weqa fan 7

(1)  Araaisii & &Wal & uud %9 (2) Al & FUH 1 fEdE H
(3)  ArEAISH % HHH| I A wY (4) FHAH & HHH| F I HY
Options:-

.1, Option ID :- 14771,
. 2, Option ID :- 14772,
. 3, Option ID :- 14773,

« 4, Option ID :- 14774,
Answer Given:- 2, Option ID : -14772

Question ID:- 3905

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) :  Cattell incorporated factors Qq, Q2, Q3 and Q4 in 16 PF

Reason (R) : Some factors appeared only in L—data not in Q and T-data

below :

|
(1) Both (A) and (R) are correct and (R)ﬂrﬂrecm\&m e
(2) Bot (AN‘)@ s(R) is Not the correct explanation of (A)

: 13) (A)'is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

In the light of the above statements, choose the most appropriate answer from the opg VU
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@) (A HA 2 AR R) W T 2

@ (A Hd 2 Al (R) gE 2

Options:-

.1, Option ID :- 15083,

. 2, Option ID :- 15084,

. 3, Option ID :- 15085,

. 4, Option ID :- 15086,
Answer Given:- 1, Option ID : -15083

Question ID:- 3878

Which of the following are features of Metacognition?

(A) Encodi t

s \ine Su

(C) Monitoring O |} V™

Choose the most appro r'\teevgro uns given bel;)w:-

(1) »#an \( -é |

ot
) (C) and (B) only

(D) Evaluation
(4) (B), (C) and (D) only




wftrdzm i faefafiaa § & #9 @ fafieand 27

(A4)  FIHO
B  fafEs
(©)  FFEm
D) A

4= fqu v farei 4 | Haifas ITgE I 1 944 ifu:

(1)  Faa (A). (B) 311 (C)

(2) %A (A) 31 (B)

(3)  ad (C) 311 (B)

(4  Fad (B). (C) 3 (D)

Options:-

.1, Option ID :- 14975,
. 2, Option ID :- 14976,
. 3, Option ID :- 14977,

. 4, Option ID :- 14978,
Answer Given:- 1, Option ID : -14975

Question ID:- 3896
Arrange in correct sequence, the first five intelligences given by Ga
(D) Kinestheti@&ntelli

(A) Linguistic Intelligence O n
(C) Spatial Intelligence S A U
%V intel ie

(B) Logico-mathematical Intelligence
e'the correct nswer from the options given below :

(1)A,B,C,D,E
(2)B, A, C,E, D
(3)C,B, A, D, E
(4)D, C,E, B, A

e S




(C) involves many behavi i tio

(D) was originﬁr@rx!ggI

(E)is, actibn c ther
Cptesseyecon

M gH 9418 1S oM ui" 9fgEi 1 9él %y 0 o

&) e iy

B) d@h-nirEg gfg
(©)  xaf¥e gfg

(D)  TIfdEgs qhg
(E) zarfas qfg

I fev mu fyemedi © | w81 9 w1 == fifau

(), A.B,C.D.E
(22 B.,AC.ED
(3) C.BLAD.E
4 D.CERBA

Options:-

.1, Option ID :- 15047,
. 2, Option ID :- 15048,
. 3, Option ID :- 15049,

. 4, Option ID :- 15050,
Answer Given:- 1, Option ID : -15047

Question ID:- 3875

New Mood Therapy:-

(A) is a cognitive therapy
(B) is meant for treatment of depression

Au ON

e'the correct answer from the options given below:-
(1) (A), (B) and (E) only

(2) (A), (B) and (C) only

(3) (B) and (E) only

(4) (B), (C) and (D) only

ine Study
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A) =8 us HHrens fafdan 2

B) I8 EHE & AN & for =41 21

(C) 390 34 SHgaENld® aEaardl o wtaa fmm mn 2y
@) ¥ ufer gr fauifed i o)

(B) 42 T wfaagm fafeea 21

= fqu mu fasedi 4 | w8 IW #9599 Fifa
() =9 (4), (B) 30 (E)

(2) e (A), (B) 3R (C)

(3) %A (B) 3 (E)

(4) %= (B). (C) 31 (D)

Options:-

.1, Option ID :- 14963,
« 2, Option ID :- 14964,
. 3, Option ID :- 14965,

. 4, Option ID :- 14966,
Answer Given:- 4 , Option ID : -14966

Question ID:- 3850

(1) Independent samples t test O n
(2) Paired samples t test U

(3) One-way ANO 'i@%roups

i4 -Way @e d measures

H M = FEEd difers e’ &1 adie gt faees 27

(1)  TEdad gfd=a ¢ oo (2 gfma sfa=em t wfiem
(3)  add HgEi « feu ush-fesfia wHpan (4) gFRIEfE Jl w1 U e wmE
Options:-

.1, Option ID :- 14863,
. 2, Option ID :- 14864,
. 3, Option ID :- 14865,

. 4, Option ID :- 14866,
Answer Given:- 2, Option ID : -14864

Question ID:- 3893

Arrange the following as per the Yogic Concept of Cognition.

Which one of the following is a nearest parametric alternative to Kr\s\aﬁ@st?s 5 tu




(A) Sensorial transformation is attended by manas
(B) Reaction by budhi to the object of cognition
(C) Registration of external object on mind

(D) Assimilation and discrimination by manas

(E) Information to Ahamkara

Choose the correct answer from the options given below :

A & AR Hehed 1 & AGER FrefafEa @1 sgafeem wi -
(A)  Uf=s F9T 4HE gR1 Fidd 2

(B) HFF & ae W gig 6 widfE

(C)  H4 W @rel aeq3il &l 3|

(D)  OH ZRI HOTEEH 3 e

(E)  FEHR & famg § Jeee|

Hr9 feu o famedi d 4 wE I % =934 Fifa
(1) C.AEBD
& ©TC,ADEB
(33 A.C.D,E.B

49 C,A.B,D,E

Options:-
.1, Option ID :- 15035,

. 2, Option INbXeS Af

pt n ID :- 15038,
Answer Given:- 3, Option ID : -15037

Question ID:- 3860

Loftus and Pickrell (1995) asked people to read and think about events which had happened to
them in childhood and also instructed to write a description of one event which was actually
fictitious. About one third of the participants described the fictitious events as having really
happened to them. This is called:-

(A) Eyewitness memory

(B) False memory

(C) Flash bulb memory

(D) Autobiographical memory

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (B) only
(3) (B) and (C) only
(4) (A) only




ATl 3 foRie (1995) A SFT H 39 9994 4 °fed 92137 & 91 4 g 310 H=- =l a1, vd A
wigwais 4 v UHl "e &1 vl il wiae #9  #a A e fege weate ot ve-faer
uferwifiEl 4 38 #reafe ge & a1 UE avia fean S99 6 e g 9g anda | afed g w3 Fed
3

@)  weaegsfi i
®)  fuen wyfq
(C)  evrdra Hfd

(D)  HAeuHATHS g

= fou mu fawedi § 4 wd 3w &1 =2 i)
(1)  Hae (A) 31 (B)

@  %ad (B)

(3)  %ad (B) 3 (O)

4  FAA (A)

Options:-

.1, Option ID :- 14903,
« 2, Option ID :- 14904,
. 3, Option ID :- 14905,

. 4, Option ID :- 14906,
Answer Given:- 1, Option ID : -14903

Question ID:- 3822

(1) Body's requirement of gleep.va witAeu
(2) Tertiary p i %%%o identify and treat an illness or injury early with an aim of
stopping 6r reversj ;®p b
x’%d hins'are released during exercise
cessive alcohol consumption leads to shrinking of frontal lobe of the brain.

faforfiad O 9 = 91 %[ e 27

(1) iR f e 6 sravawd 39 5 sEn fia i 2 2

) ddEs FHawe v ufen 2, s #1 Ued sE ol w5 $ v A fed dd sy
12 1 TEEH HH 3 IHH ITER FH 7 I Al 2

(3) =M % g USR5 aE g R

(4)  wTE & Ay Had & ufromrsgEy dere w@e e e 2

Options:-

.1, Option ID :- 14751,
. 2, Option ID :- 14752,
. 3, Option ID :- 14753,
. 4, Option ID :- 14754,

ne Stu
Which of the following statements is wrong? O n\\ e




Answer Given:- 3, Option ID : -14753

Question ID:- 3892

Arrange the first five elements of ‘Flow’ in correct sequence :
(A) Clarity of Goals

(B) Immediate Feedback of Actions

(C) Balance between challenges and skills

(D) Merger of awareness and actions

(E) Exclusion of distractions from consciousness

Choose the correct answer from the options given below :
(1)A,B,C, D, E

Y412 % Y49 99 dedl il WA %9 4 o
(A) =g H o

(B) @l &I denrel wfagfe

(C)  FHIfa 3 el & e Hqer
(D)  ANTEEA 31 wE w1 faeE

(B) < 4 fasdshi &1 317

i feu e faenedi § @ w8 I @ ww Fifaw
() A B,C,D.E
& ACBDE
(3 B.C.AED

{)30\65 AU Oﬂ\\ﬂ

.1, Optio N
Vn ID :- 15032,

. 3 , Option ID :- 15033,

. 4, Option ID :- 15034,
Answer Given:- 2, Option ID : -15032

Question ID:- 3869

Which among these is correct for Cyber bullying?

(A) It involves disinhibition

(B) Lesser role of Bystanders

(C) Ability of targets to retaliate is more

(D) No evidence left behind

Choose the correct answer from the options given below:-

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(4) (A), (B) and (D) only
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(A) 39U idqai FHan iy 2

(B)  sa yweste 6 w0 guw 2 2)

(C)  7ud ufqenea @ex &1 amed fis g 2)

(D) 35 HIE F@Ey JE1 F=9dq1 2l

I fev mu faemedi § | | I %1 99w Fifso

(1)  &ad (A) 3E (B)
(2)  %dd (A), (B) 3R (C)
(3) &4 (B), (C) 1 (D)

(4) %99 (A). (B) 31 (D)

Options:-

.1, Option ID :- 14939,
. 2, Option ID :- 14940,
. 3, Option ID :- 14941,

. 4, Option ID :- 14942,
Answer Given:- 3, Option ID : -14941

Question ID:- 3883

Match List | with List Il :

List |

ariable tes
S WO

(A) Artificially discrete variable

(B) Continuous behavioural
variable

(C) Continuous organismic
variable

(D) Dummy variable

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (C)-(1V), (D)-(1N)

g Oline SYP

() Reaction time
() Gender

(1) Selection test result interms
of selected, Not selected, On
waiting list

(IV) Height




(2)  (A)-(), (B)-(1v), (C)-(1), (D)-(11)
(3)  (A)-(), (B)-(v), (C)-(1), (D)-(lir)

(4)  (A)-(), (B)-(li), (C)-(in), (D)-(1V)

ol I w1 g 11 1 firerm shifong)

-1 HHII
1 YN Selatl
(&) Hbm = H yys = (D  wfafsan =
(B) Hdd SRl = @ fem (S7=1)
(C) Haq SAfas = (II1) =af4a, s=gfd, wdian g=h 4, & d@ed o
ERERtiE
(D) &= av) Far

419 feu mu fawadi § | 98 39 % 994 FIfa

(1) (A)-aD. (B)-@). (O)-(IV). (D)-(II)
(2)  (A)-ID. (B)-aV). (C)-(D. (D)-ID)
(3)  (A)-ID). (B)-AV). (C)-(I). (D)-(IIL)
@ (A-@D. B)-ID. (C)-II). (D)-IV)

Options:-
.1, Option ID :- 14995,

B\ | ".es
KSMID:-MQ?

Answer Given:- 4, Option ID : -14998

. 2, Option |

Question ID:- 3828

Behavior is a direct result of behavioral intentions, this is explained by which of the following?

(1) Theory of reasoned action
(2) Theory of social Impact
(3) Equity theory
(4) Correspondent inference theory
sqqe suraRTite 3Tl @1 yeas aftomg 2, suehl sared frefefiaa @ 9 fag & 20

(1) ke foben =1 fagma (2) AT uTE @1 g
(3)  HwEEAl F1 g (4) wrd 3UE % g

Options:-




.1, Option ID :- 14775,
. 2, Option ID :- 14776,
. 3, Option ID :- 14777,

« 4, Option ID :- 14778,
Answer Given:- 2, Option ID : -14776

Question ID:- 3859

Ethological approach to motivation mainly explains

(A) biological aspects of behaviour.

(B) evolutionary history of behaviour.

(C) causation of behaviour in terms of stimulus, hormonal and neurobiological events.
(D) proximal determinants of behaviour.

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only

(3) (A),(B) and (C) only
(4) (B), (C) and (D) only

IA #q SAaantas yrm gera fae 6 e #d @ -

(A)  =FIEE & AfghE TE

(B) UEEN 1 famEeas sfaemy
(C)  Ifga, griHa aun dAfye SAfadrg geqisti & Hay 4 sgagn & HH|

(D) =4EEN & Hfdehe fuier

i faw o faspedi H 4 gl 3yges 3 w1 =9 Fifau
(1) <ad (A) 311 (B) zf‘_\_x (:::)‘(q\\\

#ad (B). (C) 311 (D)

Options:-

.1, Option ID :- 14899,
« 2, Option ID :- 14900,
. 3, Option ID :- 14901,

« 4, Option ID :- 14902,
Answer Given:- 3, Option ID : -14901

Question ID:- 3824

A person’'s chronological Age is 20 years, and mental age is 16 years. What would be his 1Q?

(1) 120
(2) 100




(3) 80
(4) 110

fe farefi safeh o1 rershius Mg 20 a4 3 I9d gHfaS 37 16 a9 2 a1 356 g Afed @1 2rfi ?

(1) 120 (2) 100
(3) 80 (4) 110
Options:-

.1, Option ID :- 14759,
. 2, Option ID :- 14760,
. 3, Option ID :- 14761,

. 4, Option ID :- 14762,
Answer Given:- 3, Option ID : -14761

Question ID:- 3891

Match List | with List Il :

List | List Il
(A) Cognitive Assessment () Dass
System
(B) Hold and Dout Hold Tests () Wechsler

(C) Cognitive Assessment

Battery () Cattell

Choose the catrec a@T@@tio 3 iMelow:
}S&Jm. (B)-(), (©)-(n), ©)-(V)

(2)  (A)-(n), (B)-(1), (C)-(1v), (D)-(ln)
(3)  (A)-(m), (B)-(1v), (C)-(1), (D)-(IN)

(4)  (A)-(v), (B)-(m), (C)-(), (D)-(1)

Options:-

.1, Option ID :- 15027,
. 2, Option ID :- 15028,
. 3, Option ID :- 15029,

« 4, Option ID :- 15030,
Answer Given:- 4, Option ID : -15030

(D) Differential Ability Test V) Elliot O r\\‘\r\ = Stu




Question ID:- 3901

Arrange in a sequence the Stop-start Relapse Cycle of Internet Addiction :
(A) Regret

(B) Rationalization

(C) Relapse

(D) Abstinence

Choose the correct answer from the options given below :

Options:-

.1, Option ID :- 15067,
. 2, Option ID :- 15068,
. 3, Option ID :- 15069,

. 4, Option ID :- 15070,
Answer Given:- 4, Option ID : -15070

Question ID:- 3826

Which of the following statements describe the term ‘Diffusion of Responsibility?

(1) People help others in order to reduce their emotional discomfort

(2) Greater the number of witnesses to an emergency, the less likely the victims are to receive
help

(3) Helping others is a means of increasing one’s own status and reputation

(4) Prosocial acts are motivated solely by the desire to help someone in need S U dy
1 e al
Options:- A, ‘ ) O ‘ \\\ {

.1, Option ID ¢ 1 6@‘6
S idn 1D - |
1 ~Optibn ID :- 14769,

. 4, Option ID :- 14770,
Answer Given:- 4, Option ID : -14770

Question ID:- 3852

Visuospatial sketch pad is a component of which of the following?

(1) Long-term memory
(2) Short-term memory
(3) Working memory
(4) Sensory memory

Options:-
.1, Option ID :- 14871,
. 2, Option ID :- 14872,




. 3, Option ID :- 14873,

. 4, Option ID :- 14874,
Answer Given:- 2, Option ID : -14872

Question ID:- 3884

Match List | with List Il :

List | List I
Depth Cues Explanations
(A) Motion Parallax () Both eyes fixate on the

same point in space

(i) Partial occlusion of a far

(B) Texture Gradient object by a near object

(Ill) Graded variation in the
(C) Interposition shape, size and density of the
surface elements

(IV) Movement in one part of the

image relative to another

(D) Convergence

Choose the correct answer from the options given below :

oniin

(1) (A)-(), (B)-(11), (C)-(1V), (D)-(1)

@) (A)-V), B)-(n), C):(), (D)é Afu
fsvy(l) N»@Xn D)-(n)

(4)  (A)-(In), (B)-(1), (C)-(1m), (D)-(1V)

Options:-

.1, Option ID :- 14999,
. 2, Option ID :- 15000,
. 3, Option ID :- 15001,

. 4, Option ID :- 15002,
Answer Given:- 4, Option ID : -15002

yay

Question ID:- 3829

As per Socrates’ Greek Philosophy, Which of the following is NOT true about eudaemonia?




(1) It means living well or flourishing

(2) It is more than merely attaining pleasure

(3) Being virtuous is almost identical to eudaemonia
(4) Being virtuous does not guarantee eudaemonia

Options:-

.1, Option ID :- 14779,
. 2, Option ID :- 14780,
. 3, Option ID :- 14781,

. 4, Option ID :- 14782,
Answer Given:- 1, Option ID : -14779

Question ID:- 3862

In the two group design with a continuous dependent variable, which of the following measures of
effect size can be employed?

(A) Cohen's d

(B) Point biserial correlation

(C) Eta square

(D) Partial eta square

Choose the most appropriate answer from the options given below:-

(1) (A) only

(2) (B) and (C) only

(3) (A), B) and (C) only
(4) (A), (B) and (D) only

°1Pti:"~:=' ID :- 14911 ' \ S | U dy
: 2', opp:;nn ID.:- 14912', te 6 A u O n\ \ n e
LY T

ven:- 4, Option ID : -14914

Question ID:- 3823

Which of the following is involved in Type ‘a’ processes of thinking as described by Wertheimer?

(1) Grouping and reorganization
(2) Assimilation and conditioning
(3) Blind trial and error

(4) Partially productive methods

Options:-

.1, Option ID :- 14755,
. 2, Option ID :- 14756,
. 3, Option ID :- 14757,
. 4, Option ID :- 14758,




Answer Given:- 2, Option ID : -14756

Question ID:- 3838

In which schools of Indian thought about yoga, ‘Prakrti’ remains isolated as a principle of ultimate
reality into self and is active only in the presence and service of ‘Purusa’?

(1) Integral yoga philosophy
(2) Vedanta

(3) Samkhya

(4) Sahaj yoga

Options:-

.1, Option ID :- 14815,
. 2, Option ID :- 14816,
. 3, Option ID :- 14817,

. 4, Option ID :- 14818,
Answer Given:- 1, Option ID : -14815

Question ID:- 3903

Given below are two statements :

Statement (I) : Edwards Personality Preference Schedule (EPPS) uses forced choice format.
Statement (ll) : The forced choice format is presumed to prevent socially desirable responding
In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (Il) are correct

(2) Both Statement (I) and Statement (Il) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct S U dy
. ‘ 1

Options:- 6 A’u Oﬂ\\ne

.1, Option IDg; 1507 -‘. S

. 2= pgn IDMD e

ASP‘

nID :- 15077,

. 4, Option ID :- 15078,
Answer Given:- 1, Option ID : -15075

Question ID:- 3885

Match List | with List Il :

List | List 1l
Tests Psychologists
(A) Creative Achievement () Carson-Peterson-Higgins

Questionnaire

(B) Ideational Behaviour Scale (I  Runco




(C) Preference for Active (i) Basadur
Divergence Scale

(D) Consensual Assessment

Technique (IV) Amabile

Choose the correct answer from the options given below :

(1 (A)-), (8)-(), (C)-(1m), (D)-(1V)

(2)  (A)-(), (B)-(1), (C)-(1v), (D)-(ln)

(3)  (A)-(m), (B)-(1v), (C)-(1), (D)-(IN)

(4)  (A)-(v), (B)-(m), (C)-(), (D)-(1)

Options:-

.1, Option ID :- 15003,
. 2, Option ID :- 15004,
. 3, Option ID :- 15005,

. 4, Option ID :- 15006,
Answer Given:- 4, Option ID : -15006

Question ID:- 3889

Match List | with List Il :

List | List I O n\\ ‘ \

Ote S gescription

isy Situational Poverty ()  Not equipped with tools to

move out

Concep

(I) Not able to meet the average

(B) Generational Poverty standard of society

(Il1)  Scarcity of necessities like

(C) Relative Poverty shelter, running water and food

(IV) Caused by environmental
(D) Absolute Poverty disasters, divorce and other
issues like poor health etc

Choose the correct answer from the options given below :

(1 (A)-), (B)-(t), (C)-(1v), (D)-(IN)

ay



(2)  (A)-(m), (B)-(1), (C)-(1V), (D)-(11)

3)  (A)-(v), (B)-(1), (C)-(i), (D)-(liN)

(4)  (A)-(v), (B)-(1), (C)-(1), (D)-(lir)

Options:-

.1, Option ID :- 15019,
. 2, Option ID :- 15020,
. 3, Option ID :- 15021,

. 4, Option ID :- 15022,
Answer Given:- 3, Option ID : -15021

Question ID:- 3874

Which of the following characterizes Cognitive Dissonance?

(A) Dissonance often occurs in situations involving forced compliance

(B) Attempts to resolve dissonance are reflected in increased cortical activity

(C) Dissonance cannot be reduced directly but only by adding cognitions that justify our
behaviours

(D) Dissonance is stronger when we have little justification for our attitude — inconsistent
behaviour

Choose the correct answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D) only

Au ONINE o

Options:-
.1, Option IDNOte S
Bin ID :- 14961,

. 4, Option ID :- 14962,
Answer Given:- 4 , Option ID : -14962

Question ID:- 3879

Jensen’s Level | and Level Il abilities can be best understood in terms of which of the following?

(A) Difficulty and complexity of tasks

(B) SES Differences

(C) Racial Differences

(D) Gender Differences

Choose the most appropriate answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

ay



Options:-

.1, Option ID :- 14979,
. 2, Option ID :- 14980,
. 3, Option ID :- 14981,

. 4, Option ID :- 14982,
Answer Given:- 1, Option ID : -14979

Question ID:- 3906

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Lewin asserted that avoidance — avoidance conflicts are relatively more stable
Reason (R) : Opposing forces tend to remain in a state of disequilibrium.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:-

.1, Option ID :- 15087,
. 2, Option ID :- 15088,
. 3, Option ID :- 15089,

. 4, Option ID :- 15090,
Answer Given:- 2, Option ID : -15088

)

Question ID:- 3844

ne bo )
Qualities such as calmness, tolerance, sociability, love mx\a y goingness depict,
which of the following? S '
(1) Viscen oniN Ote |
% oton
rebrotonia

(4) Ectomorphia

Options:-

.1, Option ID :- 14839,
. 2, Option ID :- 14840,
. 3, Option ID :- 14841,

. 4, Option ID :- 14842,
Answer Given:- 1, Option ID : -14839

Question ID:- 3845

In which phase of Enright's model of psychological forgiveness, individual gains a cognitive
understanding of the offender in a new light that brings a positive change in view about the
offender, self and the relationship?




(1) Uncovering phase
(2) Decision phase
(3) Work phase

(4) Deepening phase

Options:-

.1, Option ID :- 14843,
. 2, Option ID :- 14844,
. 3, Option ID :- 14845,

. 4, Option ID :- 14846,
Answer Given:- 3, Option ID : -14845

Question ID:- 3890

Match List | with List Il :

List | List Il
Theoretical Perspective Explanation
(A) Encoding Specificity () Does not endorse different
Hypothesis memory storage
(B) Retrival induced Forgetting (II) Supress unwanted memories
(C) Schema Theory of Memory (Il1) Superiority of recognition
over recall 'y y

(D) Level of Processing Theory ﬁgﬁ:c;t @m\‘ n
Choose t cN@%@lSPtions given below :
%15( -(11), (B)-(1V), (C)-(1), (D)-(1ir)

(2)  (A)-(m), (B)-(), (C)-(1v), (D)-()

@) (A)-(), (B)-(), (C)-(lmn), (D)-(1V)

(4)  (A)-(1v), (B)-(1), (C)-(n), (D)-(1n)

Options:-

.1, Option ID :- 15023,
. 2, Option ID :- 15024,
. 3, Option ID :- 15025,
. 4, Option ID :- 15026,




Answer Given:- 1, Option ID : -15023

Question ID:- 3881

Which of the following are correct for the Biopsychosocial Model of health?

(A) Close interaction between body and mind, though they are separate entities
(B) Active participation of the patient

(C) Health and illness are on the same continuum

(D) Treatment process involves medication, surgery and radiation

Choose the most appropriate answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D)

Options:-

.1, Option ID :- 14987,
. 2, Option ID :- 14988,
. 3, Option ID :- 14989,

. 4, Option ID :- 14990,
Answer Given:- 4, Option ID : -14990

Question ID:- 3831

Who among the following proposed that different emotional stimuli induce different patterns of
ANS activity and that these different patterns produce different emotional experiences?

(1) James-Lange

(4) Plutchik

Options:- te -
Y o‘z‘:"Np

ID :- 14788
. 3, Option ID :- 14789,

. 4, Option ID :- 14790,
Answer Given:- 3, Option ID : -14789

(2) Cannon-Bard - d
(3) Singer-Schachter ' e S U y

Question ID:- 3840

Persons inclined to be verbally aggressive have:-

(1) low threshold for Behaviour Activation system

(2) low threshold for Flight-Fight system

(3) high threshold for Behaviour Inhibition system

(4) high threshold for Behaviour Activation system

Options:-
.1, Option ID :- 14823,




. 2, Option ID :- 14824,
. 3, Option ID :- 14825,

. 4, Option ID :- 14826,
Answer Given:- 2, Option ID : -14824

Question ID:- 3872

Which of the following categories were given by Skinner for different verbal responses in terms
of how they are reinforced?

(A) Mand

(B) Tact

(C) Echoic Behaviour

(D) Autoclitic Behaviour

Choose the correct answer from the options given below:-

(1) (A) and (B) only

(2) (C) and (D) only

(3) (A), (B) and (C) only

(4) (A), (B), (C) and (D) only

Options:-

.1, Option ID :- 14951,
. 2, Option ID :- 14952,
. 3, Option ID :- 14953,

« 4, Option ID :- 14954,
Answer Given:- 4, Option ID : -14954

QuestiOIil ID:- :‘-3887. N =4 ‘ U dy
Match List | with List Il : S A‘M O n\ \ n e S

Explanations

(A) Elaboration Likelihood
Model

()  Gender stereotypes

(I) Central and peripheral route

(B) Realistic Conflict Theory .
to persuasion

(1) Idealogical change in core

(C) Glass Cliff aspect of a group

(IV) Intergroup competition as a

(D) Schism source of prejudice

Choose the correct answer from the options given below :

(1) (A)-), (8)-(tm), (C)-(), (D)-(1V)




(2)  (A)-(m), (B)-(1v), (C)-(), (D)-(1N)

(3)  (A)-(), (B)-(1), (C)-(1v), (D)-(liN)

(4)  (A)-(), (B)-(v), (C)-(1), (D)-(lin)

Options:-

.1, Option ID :- 15011,
. 2, Option ID :- 15012,
. 3, Option ID :- 15013,

« 4, Option ID :- 15014,
Answer Given:- 4, Option ID : -15014

Question ID:- 3863

Which of the following are considered as projective tests of personality?

(A) Thematic Apperception Test (TAT)

(B) Rotter’s Incomplete Sentences Blank (RISB)

(C) Guttman's Scalogram Analysis

(D) Kent—Rosenoff Free Association Test

Choose the correct answer from the options given below:-

(1) (A) and (D) only

(2) (A), (B) and (C) only
(3) (A), (B) and (D) only
(4) (A), (B), (C) and (D)

ey NN

. 2, Option ID :- 14916,
. 3, Option ID :- 14917,

« 4, Option ID :- 14918,
Answer Given:- 3, Option ID : -14917

Question ID:- 3836

Integration of cognitive aspects of learning with the emotional aspects of experience and
learning is known as:-

(1) Integrated approach to learning

(2) Confluent education

(3) Feeling class approach to education
(4) Motivational approach to learning

Options:-




.1, Option ID :- 14807,
. 2, Option ID :- 14808,
. 3, Option ID :- 14809,

« 4, Option ID :- 14810,
Answer Given:- 2, Option ID : -14808

Question ID:- 3865

Interscorer reliability is relevant in:-

(A) projective tests of personality

(B) achievement tests with short answers

(C) achievement tests with essay type questions

(D) self-report personality inventories

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

Options:-

.1, Option ID :- 14923,
. 2, Option ID :- 14924,
. 3, Option ID :- 14925,

. 4, Option ID :- 14926,
Answer Given:- 3, Option ID : -14925

Question ID:- 3851

Which theory determines poverty as a psychological pr ﬁ*r\tﬂﬁs in society?

(1) Attribution theory

ol S \

eory of poverty

Options:-

.1, Option ID :- 14867,
. 2, Option ID :- 14868,
. 3, Option ID :- 14869,

. 4, Option ID :- 14870,
Answer Given:- 3, Option ID : -14869

Question ID:- 3870

Which of the following in learning environment are considered to be true about school success?

(A) The self image is vital to learning

(B) Very high goal setting is necessary to motivate and study

(C) Success experience is a function of challenge more than repetition
(D) Child’s spiritual identity is vital to learning




Choose the correct answer from the options given below:-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (A), (C) and (D) only
(4) (B), (C) and (D) only

Options:-

.1, Option ID :- 14943,
. 2, Option ID :- 14944,
. 3, Option ID :- 14945,

. 4, Option ID :- 14946,
Answer Given:- 4, Option ID : -14946

Question ID:- 3861

Which of the following characteristics are applicable to emotions that are considered to occur as
a result of interaction among subjective and environmental factors and neural and hormonal
processes?

(A) Emotions give rise to hedonic experiences.

(B) Emotions stimulate to generate cognitive explanations.

(C) Emotions trigger variety of internal neurobiological changes.
(D) Emotions always elicit rewarding behaviour.

Choose the most appropriate answer from the options given below:-
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A), (B) and (C) only

(4) (B), (C) and (D) only

. ontemi: NS S AU oniin
. Opfylon L

. 4 , Option ID :- 14910,
Answer Given:- 2, Option ID : -14908

e gud\/

Question ID:- 3848

Projective measures, particularly inkblot tests, index which of the following?

(1) Novelty context of creativity
(2) Meaning context of creativity
(3) Domain specific creativity
(4) General creative potential

Options:-

.1, Option ID :- 14855,
. 2, Option ID :- 14856,
. 3, Option ID :- 14857,




« 4, Option ID :- 14858,
Answer Given:- 1, Option ID : -14855

Question ID:- 3894

Arrange the following correlations in ascending order in terms of their strength of relationship
(A) -0.75

(B) - 0.30

(C)o.40

(D) 0.68

Choose the correct answer from the options given below :

(1)B,C,D, A
(2)B, A, C,D
(3)A,B,C,D
(4)D,C, B, A

Options:-

.1, Option ID :- 15039,
. 2, Option ID :- 15040,
. 3, Option ID :- 15041,

. 4, Option ID :- 15042,
Answer Given:- 4 , Option ID : -15042

Question ID:- 3868

Attitudes can be classically conditioned even without our awareness by which of the following?

(A) Subliminal conditioning

(B) Observational learning '

(C) Mere exposure U

(D) Social networks e - A

Choose the correct answer from the options_given beloo ‘ ‘ \ ‘ \

(1) (A) and (B) onl « A
(2) (B) and (C)feply te =
s
Options:-
.1, Option ID :- 14935,
. 2, Option ID :- 14936,

. 3, Option ID :- 14937,

. 4, Option ID :- 14938,
Answer Given:- 1, Option ID : -14935

Question ID:- 3841

The person’s failure to respond to the second stimulus while continuing to respond to the first
stimulus is because of:-

(1) Event Related Potential (ERP)
(2) Psychological Refractory Period (PRP)




(3) Priming effect
(4) Excessive mental effort

Options:-

.1, Option ID :- 14827,
. 2, Option ID :- 14828,
. 3, Option ID :- 14829,

. 4, Option ID :- 14830,
Answer Given:- 2, Option ID : -14828

Question ID:- 3895
The evolution of the various explanations or models of memory occur in the following sequence :
(A)  Multistore

(B)  Working memory

(C)  Level of processing

(D) Interference

Choose the correct answer from the options given below :
§)) D,AC,B

(2) D,C,B, A

3) A,B,C,D

(4) B,C,D A

yay

Options:- - \ : S
.1p, Opt;on |ﬁ43 e S A u O n\ \ n e
.2, Optlon | O

4 Option ID :- 15046,
Answer Given:- 4, Option ID : -15046

Question ID:- 3867
Which of the following type of inversion is observed in reaction formation?

(A) Implicit

(B) Explicit

(C) Conscious

(D) Unconscious

Choose the correct answer from the options given below :-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (B) and (D) only
(4) (A) and (C) only

Options:-




CYSMN)

.1, Option ID :- 14931,
« 2, Option ID :- 14932,
. 3, Option ID :- 14933,

. 4, Option ID :- 14934,
Answer Given:- 3, Option ID : -14933

Question ID:- 3888

Match List | with List Il :
List | List II

Type of communication in family

therapy Description

() Carries an air of self
importance

(A) Congruent
(B) Placating (II) Placing others above oneself

(1) Seeing the world with a lens

(C) Blaming of objectivity and coolness

(IV) Reasonably flexible with a

(D) Super reasonable .
sense of connection

Choose the correct answer from the options given below :

(1) (A)-(m), (B)-(1), (C)-(), (D)-(1v)

@  (A-m, ﬁl) (cu{@(g A—U O

1), (€)-(1), (D)-(1n)

nline Su

(4)  (A)-(1v), (B)-(1), (C)-(n), (D)-(1n)

Options:-

.1, Option ID :- 15015,
. 2, Option ID :- 15016,
. 3, Option ID :- 15017,

« 4, Option ID :- 15018,
Answer Given:- 4, Option ID : -15018

Question ID:- 3876




The components of ‘Working Memory’ are:-

(A) Acoustic unit

(B) Semantic unit

(C) Central executive

(D) Episodic buffer

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (D) only
(4) (C) and (D) only

Options:-

.1, Option ID :- 14967,
. 2, Option ID :- 14968,
. 3, Option ID :- 14969,

. 4, Option ID :- 14970,
Answer Given:- 3, Option ID : -14969

Question ID:- 3819

Which of the following is correct for the Pheromones?
(1) Biochemicals found within the brain which effect a person’s behaviour
(2) Biochemials which play an important role in transmitting information from neuron to neuron

(3) Chemical messengers found in the Central Nervous System
(4) Chemical substances emitted by the person into the environment affecting the behaviour of

=S uay

Options:-

o AU onhn

.3 tigh ID §-
iSpt n D :- 14742,
Answer Given:- 2, Option ID : -14740

Question ID:- 3854

After being robbed by a boy recently the shopkeeper says “beware of teenagers in our
community”.

Which of the following explains his reactions?

(1) Algorithm

(2) Availability Heuristic

(3) Representative Heuristic
(4) Gambler's fallacy

Options:-
.1, Option ID :- 14879,
. 2, Option ID :- 14880,




. 3, Option ID :- 14881,

. 4, Option ID :- 14882,
Answer Given:- 3, Option ID : -14881

Question ID:- 3817

Which of the following nerves carry the sensory messages from skin, eyes and ears to Central
Nervous System?

(1) Efferent
(2) Afferent
(3) Cranial
(4) Peripheral

Options:-

.1, Option ID :- 14731,
. 2, Option ID :- 14732,
. 3, Option ID :- 14733,

. 4, Option ID :- 14734,
Answer Given:- 4, Option ID : -14734

Question ID:- 3882

Match List | with List Il :

List | List 11

Concept Description S k-
(A) Turiyavastha Trans.\rv‘\s\ n e

B) A e S hest state of
P O consciousness

' i Paravidya (In) Transcendental knowledge
(D) Nididhasan (IV) Empirical knowledge

Choose the correct answer from the options given below :

(1 (A)-O), (B)-(m), (C)-(), (D)-(1V)

(2 (A)-(n, (B)-(1n), (C)-(1V), (D)-(1)

(3)  (A)-(), (B)-(1), (C)-(m), (D)-(IV)

(4)  (A)-(m), (B)-(n), (C)-(1V), (D)-(1)




Options:-

.1, Option ID :- 14991,
. 2, Option ID :- 14992,
. 3, Option ID :- 14993,

. 4, Option ID :- 14994,
Answer Given:- 3, Option ID : -14993

Question ID:- 3839

Pattern of familial transmission of intelligence from one generation to other is investigated in
which of the following?

(1) Linkage analysis studies

(2) Adoption studies

(3) Association studies

(4) Segregation analysis Studies

Options:-

.1, Option ID :- 14819,
. 2, Option ID :- 14820,
. 3, Option ID :- 14821,

. 4, Option ID :- 14822,
Answer Given:- 2, Option ID : -14820

Question ID:- 3880
What are the characteristics of ‘Emerging persons’ in R \a\ﬂ e S
(A) Honest and open 4 t j ( i
(B) Indlfferen @Sd ey u
(C) C
profou

st in authorlty
e e most approprlate answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

Options:-

.1, Option ID :- 14983,
. 2, Option ID :- 14984,
. 3, Option ID :- 14985,

. 4, Option ID :- 14986,
Answer Given:- 4 , Option ID : -14986

uay

Question ID:- 3849




When a target is defined by just one distinctive feature which is available on its feature map and
it calls attention to itself is known as:-

(1) Binding effect

(2) Pop-out effect

(3) Conjunction effect
(4) Orienting effect

Options:-

.1, Option ID :- 14859,
. 2, Option ID :- 14860,
. 3, Option ID :- 14861,

. 4, Option ID :- 14862,
Answer Given:- 4, Option ID : -14862

Question ID:- 3821

If a person’s distinctive social category makes him or her vulnerable to stereotyping, it is referred
to as:-

(1) Token integration
(2) Neosexism
(3) Ingratiation
(4) Token bias

Options:-

.1, Option ID :- 14747,
. 2, Option ID :- 14748,
. 3, Option ID :- 14749,

. 4, Option ID :- 14750, O ‘ \\
Answer Given:- 3, Option ID : -1¢ ‘ A, u

Qu;it' n JD:- 3¢ |
%i e Sequence of Identity Formation in Adolescents.

(A) Consolidation

(B) Exploration

(C) Rapprochement

(D) Differentiation

Choose the correct answer from the options given below :

(1)B,D,C, A
(2)D, B, A, C
(3)D,B,C, A
(4)C, A, B, D

Options:-

.1, Option ID :- 15063,
. 2, Option ID :- 15064,
. 3, Option ID :- 15065,




. 4, Option ID :- 15066,
Answer Given:- 1, Option ID : -15063

Question ID:- 3897

Arrange the Nafs (Self in Sufism) from lower to higher self :

(A) The self pleasing to God

(B) The pure self

(C) Inspired self

(D) Serene self

(E) The pleased self

Choose the correct answer from the options given below :

Options:-

.1, Option ID :- 15051,
. 2, Option ID :- 15052,
. 3, Option ID :- 15053,

. 4, Option ID :- 15054,
Answer Given:- 1, Option ID : -15051

Question ID:- 3846

It is possible to accept the world as it is, without experiencing dissatisfaction. This is related to
which of the following in Buddhism? ‘

(1) Right thought in eight-fold path
(2) Right mindfulness in eight-fold path
(3) Elimination of craving

(4) Existence of sq!:isfacti /éagcti
ot
sy N

.1, Option ID :- 14847,
. 2, Option ID :- 14848,
. 3, Option ID :- 14849,

. 4, Option ID :- 14850,
Answer Given:- 1, Option ID : -14847

Question ID:- 3843
Discovery and understanding of our own abilities brings happiness but also brings fear of new
responsibilities and duties. It is called:-

(1) Fear of failure
(2) Jonah complex
(3) Motives conflict
(4) Fear of success




Options:-

.1, Option ID :- 14835,
. 2, Option ID :- 14836,
. 3, Option ID :- 14837,

. 4, Option ID :- 14838,
Answer Given:- 2, Option ID : -14836

Question ID:- 3899

Give the correct sequence of stages in the relationship maintenance as suggested by Thibaut and
Kelly (1959) in their Social Exchange Theory :

(A) Bargaining

(B) Commitment

(C) Sampling

(D) Institutionalization

Choose the correct answer from the options given below :

Options:-

.1, Option ID :- 15059,
. 2, Option ID :- 15060,
. 3, Option ID :- 15061,

. 4, Option ID :- 15062,
Answer Given:- 2, Option ID : -15060

Question ID:- 3873

| LI
Which among the oIIowm efeAS&ig\Refe;cing?

atlon about others’ feelings, to help explain the meaning of
a circumstances and events
rs around the age of 2 — 3 years
(C) Infants make use of facial expressions in social referencing
(D) Infants need to understand the significance of other’s behavior within the context of a specific
situation
Choose the most appropriate answer from the options given below:-

(1) (B) only

(2) (A) and (C) only
(3) (B) and (C) only
(4) (A) and (D) only

Options:-

.1, Option ID :- 14955,
. 2, Option ID :- 14956,
. 3, Option ID :- 14957,
. 4, Option ID :- 14958,




Answer Given:- 1, Option ID : -14955

Question ID:- 3833

Which of the following are the correct differences between Parkinson’s disease and Huntington's
disease?

(A) Parkinson's disease is a disorder of middle and old age while Huntington's disease is a
disorder of young.

(B) Parkinson’s disease is a movement disorder while Huntington’s disease is an emotional
disorder.

(C) Unlike Parkinson's disease, Huntington's disease has a strong genetic base.

(D) Parkinson's disease is not associated with severe dementia while Huntington's disease is.

Choose the correct answer from the options given below:-
(1) (A) and (B) only

(2) (C) and (D) only

(3) (A), (C) and (D) only

(4) (B), (C) and (D) only

Options:-

.1, Option ID :- 14795,
. 2, Option ID :- 14796,
. 3, Option ID :- 14797,

. 4, Option ID :- 14798,
Answer Given:- 4, Option ID : -14798

Question ID:- 3830

Multivariate Analysis of Variance (MANOVA) is best suited for making groupwise comparlsons

for several dependent variables. Which of the following are these? -
(1) Uncorrelated
(2) Moderately correlated e ‘

(3) Very highly correlated ‘ \\ \ ( \
(4) Either uncorrelated or have smgega&ﬂlatl

.1 Optlon ID :- 14783,
. 2, Option ID :- 14784,
. 3, Option ID :- 14785,

. 4, Option ID :- 14786,
Answer Given:- 4 , Option ID : -14786

Question ID:- 3818

A Woman who learns that she has been deprived of promotion to a higher job in a company, may
storm into her boss's office and have temper tentrum. It exemplifies :

(1) Sublimation

(2) Rationalization

(3) Reaction Formation
(4) Regression




Options:-

.1, Option ID :- 14735,
. 2, Option ID :- 14736,
. 3, Option ID :- 14737,

« 4, Option ID :- 14738,
Answer Given:- 2, Option ID : -14736

Question ID:- 3856

Vouyerstic and exhibitionistic disorders are included in which of the following in DSM-5?

(1) Sexual dysfunctions

(2) Paraphillic disorders

(3) Other conditions that focus on clinical attention
(4) Disruptive impulse control and conduct disorders

Options:-

.1, Option ID :- 14887,
. 2, Option ID :- 14888,
. 3, Option ID :- 14889,

. 4, Option ID :- 14890,
Answer Given:- 1, Option ID : -14887

Question ID:- 3904

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : In fixed interval schedule of reinforcement behaviour is reinforced in a fixed tis

period.

Reason (R) : When students get feedback |nterm|ttently thelr level X& |n eases!
ef fro

In the light of the above statements, choosg th st | te
below : \ x
(1) Bo (A) aw C aﬁ) is the correct explanation of (A)

m the optlons glven

) and (R)'are"correct but (R) is Not the correct explanation of (A)
orrect but (R) is not correct
(4) (A) is not correct but (R) is correct

Options:-

.1, Option ID :- 15079,
. 2, Option ID :- 15080,
. 3, Option ID :- 15081,

. 4, Option ID :- 15082,
Answer Given:- 1, Option ID : -15079

Question ID:- 3825

“When individuals believe that moral choices are not dependent on close ties to others and that rules must be enforced in the same manner for

everyone and each person should uphold them”.




The following statement is characteristic of which stage of Moral Development according to
Kohlberg?

(1) Social contract orientation (2) Morality of Interpersonal
Cooperation

(3) Social order maintaining orientation (4) Universal Ethical principle
orientation

Options:-

.1, Option ID :- 14763,
. 2, Option ID :- 14764,
. 3, Option ID :- 14765,

. 4, 0Option ID :- 14766,
Answer Given:- 2, Option ID : -14764

Question ID:- 3847

Which one of the following is considered as a culture-fair test?

(1) Bhatia’s Battery of Intelligence

(2) Kaufman's Intelligence Tests

(3) Wechsler's Adult Intelligence scale
(4) Naglieri Nonverbal Ability Test

Options:-

.1, Option ID :- 14851,
. 2, Option ID :- 14852,
. 3, Option ID :- 14853,

. 4, Option ID :- 14854,
Answer Given:- 3, Option ID : -14853

.

Question ID:- N
%I% ofithe following is/are correctly associated with Plato’s idea of ‘Chariot that is pulled by
two horSes’?

(A) Desiring soul is the charioteer.

(B) Rational soul is located in the head.

(C) Rational soul is governed by restraint and modesty.
(D) Spirited soul knows the honour.

Choose the correct answer from the options given below:-

(1) (C) only

(2) (A) and (B) only

(3) (B) and (D) only

(4) (A), (C) and (D) only

Options:-
.1, Option ID :- 14895,
. 2, Option ID :- 14896,




. 3, Option ID :- 14897,

. 4, Option ID :- 14898,
Answer Given:- 4, Option ID : -14898

Question ID:- 3857

Which of the following are true regarding Broca’s area?

(A) It is located in the frontal lobe.

(B) Its function is speech production.

(C) Understanding and processing aspects of language are associated with it.
(D) It helps people using sign language.

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (A), (B), (C) and (D)

Options:-

.1, Option ID :- 14891,
. 2, Option ID :- 14892,
. 3, Option ID :- 14893,

. 4, Option ID :- 14894,
Answer Given:- 2, Option ID : -14892

Question ID:- 3864

Which of the following are correctly described influences of Behaviourism? $ ‘
0

.
(A) Watson's scientific psychology was designed to predi€t"and. O\Iﬁ%aw
(B) Mary Cover Jones studied the effectiveriess ofgcou @ nditionin

(C) Skinner claimed to have introdueed th ‘Behavi erapy’ and is also credited for it

(D) Lazarus emphasised,t ﬁl5 of rndike’s Law of effect
Choosge the colr r heoptions given below:-

C}I and (D) only
(2) (B) and (C) only
(3) (A) and (B) only
(4) (C) and (D) only

Options:-

.1, Option ID :- 14919,
. 2, Option ID :- 14920,
. 3, Option ID :- 14921,

. 4, Option ID :- 14922,
Answer Given:- 1, Option ID : -14919

Question ID:- 3877

Mayer-Salovey-Caruso Emotional Intelligence Test (MSCEIT) measures:-




(A) Perceiving emotions

(B) Using emotions to facilitate thought

(C) Understanding emotions

(D) Implicit motivation

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

Options:-

.1, Option ID :- 14971,
. 2, Option ID :- 14972,
. 3, Option ID :- 14973,

« 4, Option ID :- 14974,
Answer Given:- 3, Option ID : -14973

Question ID:- 3898

According to Master and Johnson, which of the following is correct sequence of Sexual
Response?

(A) Excitement

(B) Desire

(C) Plateau

(D) Orgasm

(E) Resolution

Choose the correct answer from the options given below :

(1)A,C,DE
(2)B, A, D, E
(3)B, A, C,D
(49 ABCD O n\
Options:- Npte 6 A’ u
ID ;&1 X
igjn ID :- 15056,

. 3, Option ID :- 15057,

. 4, Option ID :- 15058,
Answer Given:- 2, Option ID : -15056

Question ID:- 3871

Which of the following are the performance subtests of WAIS?

(A) Digit span

(B) Similarities

(C) Digit symbol

(D) Object assembly

Choose the correct answer from the options given below:-

(1) (A) and (C) only
(2) (C) and (D) only
(3) (B), (C) and (D) only
(4) (A), (C) and (D) only




Options:-

.1, Option ID :- 14947,
. 2, Option ID :- 14948,
. 3, Option ID :- 14949,

. 4, Option ID :- 14950,
Answer Given:- 3, Option ID : -14949

Question ID:- 3886

Match List | with List Il :

List | List I
Indices Test
(A) Universal Index () OATB
(B) Disclosure Index zmn Mcwmi
(C) True Response () MMPI

Inconsistency
(D) Coping Deficit Index (IV) Rorschach Inkblot Test

Choose the correct answer from the options given below :
(M A)-(, (B)-(), (C)-(1), (D)-(1V) O n\\n e S\

@ (A-(n), (B) (C)(V)é% A—U
Cfspy(m)Nv )-(1), (D)-(1r)

(4)  (A)-(1v), (B)-(m), (C)-(), (D)-(1)

Options:-

.1, Option ID :- 15007,
. 2, Option ID :- 15008,
. 3, Option ID :- 15009,

. 4, Option ID :- 15010,
Answer Given:- 4, Option ID : -15010

Question ID:- 3855

Communication of the understanding of the ‘internal frame of reference’ to client by a therapist
pertains to which type of counseling skills?




(1) Reflection

(2) Focusing

(3) Empathy

(4) Social influencer

Options:-

.1, Option ID :- 14883,
. 2, Option ID :- 14884,
. 3, Option ID :- 14885,

. 4, Option ID :- 14886,
Answer Given:- 1, Option ID : -14883

Question ID:- 3820

Which of the following describes the enduring facilitation of synaptic transmission that occurs
following activation of synapses by high intensity and high frequency stimulation of pre-synaptic
neurons?

(1) Action potential

(2) Absolute refractory period
(3) Relative refractory period
(4) Long term potentiation

Options:-

.1, Option ID :- 14743,
. 2, Option ID :- 14744,
. 3, Option ID :- 14745,

. 4, Option ID :- 14746, S U
Answer Given:- 3, Option ID : -14745 (“‘\ n\ \ n e

Question ID:- 3842 A
Some te %t:t match similar objects and describe the component parts
I torec n| e

e
i the objects that they had just seen or drawn. Which of the following
bes this phenomena?

(1) Associative Agnosia
(2) Apperceptive Agnosia
(3) Visual Neglect

(4) Form Agnosia

Options:-

.1, Option ID :- 14831,
. 2, Option ID :- 14832,
. 3, Option ID :- 14833,

. 4, Option ID :- 14834,
Answer Given:- 2, Option ID : -14832

Question ID:- 3866

ay



Which of the following tactics for gaining compliance are based on reciprocity?

(A) The Door-in—the — face technique

(B) “That's — Not—All" Approach

(C) Playing hard to get

(D) Foot—-in—the Door Technique

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (D) only
(4) (C) and (D) only

Options:-

.1, Option ID :- 14927,
. 2, Option ID :- 14928,
. 3, Option ID :- 14929,

« 4, Option ID :- 14930,
Answer Given:- 2, Option ID : -14928

Question ID:- 3853

Who of the following emphasised nomothetic approach in personality research?

(1) Allport
(2) Eysenk
(3) Jung

(4) Galton

yay

Options:- ) S
.1, Option ID :- 14875, | \ \n e ,
. 2, Option ID :- 14876, d ‘ ) ! ‘ \

. 3, Option Dy, 1 te
lﬁ?}{" |M©

ven:- 3, Option ID : -14877

Question ID:- 3837
Which one of the following is usually not considered an example of the evaluative dimension of
the Osgood Semantic Differential?

(1) Clean —---=-=----- Dirty
(2) Slow ———————————- Fast
(3) Good ————=——————= Bad
(4) Kind -~ ——————————- Cruel
Options:-

.1, Option ID :- 14811,
. 2, Option ID :- 14812,
. 3, Option ID :- 14813,

« 4, Option ID :- 14814,
Answer Given:- 4, Option ID : -14814




Question ID:- 3902

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R :

Assertion (A) : Chances of inheriting the dominant genes are twice in females as compared to
males

Reason (R) : Females in comparison to males have two ‘X’ chromosomes

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:-

.1, Option ID :- 15071,
. 2, Option ID :- 15072,
. 3, Option ID :- 15073,

. 4, Option ID :- 15074,
Answer Given:- 2, Option ID : -15072

Question ID:- 3832

The tendency to believe that a task will take less time than it really will, is known as:-

(1) Magical thinking

(2) Planning Fallacy

(3) Optimistic Bias

(4) Fundamental Attribution Error

Options:- ‘ ‘ S U dy
T Etes AU © nlin®
13%: :E - 14794

Subject : Psychology B

Question ID:- 3909

What is the expected Cronbach alpha for the Form A?

(1) .474 (2) .899
@ 913 (4) .947
Options:-

.1, Option ID :- 15099,
« 2, Option ID :- 15100,




. 3, Option ID :- 15101,

. 4, Option ID :- 15102,
Answer Given:- 4, Option ID : -15102

Question ID:- 3910

Give below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) :  Itis not possible to compute K-R reliability for the above test,
since each item has five alternatives

Reason (R) : K-R reliability can be computed, when the items can be
dichotomously scored

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

Options:-

.1,0ptif>n ID ::-15103. S A,u Or\\\r\

: :- 15106,
Answer Given:- 2, Option ID : -15104

Question ID:- 3911

For computing inter-item correlations, which one of the following is suitable?

@) Point biserial correlation (2) Biserial correlation
(3) Rank difference correlation (4) Phi-coefficient
Options:-

.1, Option ID :- 15107,
. 2, Option ID :- 15108,
. 3, Option ID :- 15109,




« 4, Option ID :- 15110,
Answer Given:- 1, Option ID : -15107

Question ID:- 3907

Item | was passed by 30 subjects in Low scoring group and by 56 subjects in High scoring group.

What would be the discrimination index for item 1?

§)) 0.241 (2) 0.481
(3) 0.556 (4) 0.796
Options:-

.1, Option ID :- 15091,
. 2, Option ID :- 15092,
. 3, Option ID :- 15093,

. 4, Option ID :- 15094,
Answer Given:- 2, Option ID : -15092

Question ID:- 3908

Which one of the following test can be used for evaluating statistical significance of the
discrimination index?

@) Chi-square test (2) ttest

Options:-

oS A

t nID :- 15097,

. 4, Option ID :- 15098,
Answer Given:- 1, Option ID : -15095

3) F test (4) Mann-Whitney U test S \U
1 ) \
onliine

Subject : Psychology_C

Question ID:- 3914

The above results indicate that :

(1) the first hypothesis is verified

(2) the first hypothesis is rejected

(3) the first hypothesis is partially verified

(4) the inadequate information for evaluating the first hypothesis

Options:-




.1, Option ID :- 15119,
. 2, Option ID :- 15120,
. 3, Option ID :- 15121,

. 4, Option ID :- 15122,
Answer Given:- 4, Option ID : -15122

Question ID:- 3916

The above findings indicate that the post-hoc comparisons are :

(1) Necessary for the effect of stress

(2) Necessary for the effect of type of material

(3) Necessary both for the effect of stress and type of material

(4) Neither necessary for the effect of stress nor the type of material

Options:-

.1, Option ID :- 15127,
. 2, Option ID :- 15128,
. 3, Option ID :- 15129,

. 4, Option ID :- 15130,
Answer Given:- 3, Option ID : -15129

Question ID:- 3912

The above design can best be labelled as :

(1) Randomized 3 x 2 balanced factorial design ' ) U

(2) Randomized 3 x 2 balanced factorial design with a covariate ¥ ~ . A

(3) Randomized 3 x 2 unbalanced factorial design ; \\ ‘ \ E }v :

(4) Randomized block design 3 ‘ ) u ‘ \

i ns:- \ Ot
15, pa’ nID:- 15111,

. 2, 0ption ID :- 15112,
. 3, Option ID :- 15113,

. 4, Option ID :- 15114,
Answer Given:- 1, Option ID : -15111

Question ID:- 3915

Which one of the following F ratio would be used to evaluate second hypothesis?

(1) F = MSA/MSg

(2) F = MSg/MSg

(3) F = MSp x g/MSE

(4) F=MSp /(MSp x g + MSE)




Options:-

.1, Option ID :- 15123,
« 2, Option ID :- 15124,
. 3, Option ID :- 15125,

. 4, Option ID :- 15126,
Answer Given:- 4 , Option ID : -15126

Question ID:- 3913

The above data indicates :

(1) that the assumption of homogeneity of variance is satisfied

(2) that the assumption of homogeneity of variance is not satisfied

(3) the absence of information related to the assumption of homogeneity of variance
(4) the formal test of homogeneity of variance needs to be carried out

Options:-

.1, Option ID :- 15115,
. 2, Option ID :- 15116,
. 3, Option ID :- 15117,

« 4, Option ID :- 15118,
Answer Given:- 3, Option ID : -15117
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